= A
N = 0] &F AF S & AN A
20208 = 20l A LB H TAJBMSISEE ANETAHS ~ TA2EHSIEE2E BMSHS 2
SN CHRBMSEZE AYCHR
M BTSN 2Y
ool BFEARTAZY B2 (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
TNEHMSEESEE AlE A2 10,789,012 12,561,514 N1,772,502
=2 58,888
g 2,570,000
& 625,194
Al 7,534,930
2242 24 3,770,687 5,502,520 N1,731,833
= 4 000
o 20,250
Al 3,746,437
HFEANE A2 222 3,064,748 3,261,398 A 196,650
= 4,000
o= 20,250
Al 3,040,498
SN2 AR A 22 556,834 238,770 318,064
201 et | 189,979 0 189,979
02 232 4| 189,979 0 189,979
O A& ZHl R X4 189,979
OJIHAE SN2 24,150
-2J| X3 &H| 1,400,000& * 67| 8,400
-S&A KA 22 500,000 * 1200 A 6,000
-Stf= B A 200,000& * 3004 6,000
-2 2 Y =T AL
400,0008 = 500 A 2,000
-3 SLE Ad| 50,000& * 35CH 1,750
OdIANE SXNE 20,000
-XY Y JMIAE A2
1,500 000& = 10JH A 15,000
-+=NM4&H| RHE% 1,000,000 * 50 5,000
OABAIE RNEX(XANSHEXD])
1,000,000 * 1200 2 12,000
O A2 HAaeAED| X
2,500,000& = 2CH 5,000
O M2 &8 L AAMHH A2
300,0008 * 1102 3,300
OYLet)| IEE 37,000
“ANEENE HSI| M2
4,500,000 = 27| 9,000
ANEEA2 SWEI| M2
40,000 = 1000H 4,000
—AAE HUeE)] M=
2,000,000 = 1200 £ 24,000
OANB A2 2X TEH DA 4,100
-0l&82H 110,000& = 304 3,300
-ZejEH 20,000& = 400H 800
OsdIl FANESE 400,000& * 1200 A 4,800




N & o & AF & H Al A
20208 & =04 LBISIH TAHZ2HUSISEZR AEEA2 ~ SAN2EMYSISE2S Bsiga
SN CHRBMSEZE AYCHR
HH: ZTCHY 2Y
Ce HFANEZAZY 2el2Z (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ozdg sl 79,629
-ANE SN2 3,737& = 5,370m 20,068
-LESSET M 1,287&  8,338m 10,732
—LEE M2 2,401& = 2,753m’ 6,610
-AYE N2 3,126@ « 2,681m’ 8,381
-HEE N2 3,126& « 2,623m 8,200
—LEZT M2 3,126& = 1,781m’ 5,568
~ANA SN2 2,401& ~ 2,692m 6,464
-EET N2 3,126& « 2,618m’ 8,184
Qeasta 3,126& » 990m’ 3,095
“ZUE N2 1,287& = 1,140m 1,468
—SAME M2 1,287& * 667 859
206 TH 2 HI 16,855 17,080 225
01 =8l 16,855 17,080 A 225
OH=EXNM(HAE 2 2F)
100,000& = 38 = 5044 1,500
O&IIANE 2283 4,800
OF&XHI & HOZ Bi&IIF
15,0002 * 704 1,050
O=ti&E HIIF L LELALX
25,0003 = 704 1,750
OHNEZ=Z0E #HE L HFIIF
40,0003 = 5004 2,000
OJIAHEH 2283 5,500
Ost&de =83+ 2 105 20,0003 = 7004 1,400
Odut)] 2 Hd M 2| 153
20,0003 = 704 1,400
od2g A=A 60,000& = 304 1,800
OAT ¥ESR 30,0003 * 6IH * 5 & 900
OARALE 22ES 4,800
OA3I| A5E HHE
50,0003 * 400 * 1200 A& 2,400
OR&Es 50,000& * 401 = 1204 2,400
OHAZH)| A= (ER)
1,275& = 2002l & = 1CH 255
401 Al BIZ 201 8] 350,000 221,690 128,310
01 A& HI 350,000 221,690 128,310
OFJAENZ = dLtE) WX
280,000,000& * 102 280,000
QI GEEL L AL SA
20,000,000& * 1JH 2 20,000
OHIAZ M2 XBHEGH E3 At
20,000,000& * 10H 2 20,000
O M2 AL FHHISAH(12IHA)
20,000,000& 20,000




SH ENREASSES AR
H: BIZENB 2Y
Sl FFAYCAHBO B22Y (erel:@e)
SH-EY .S (SH) - NEANY - BES 0l & o il HIRE
ORZCA2 SNRA Ise &X
5,000,000 * 2242 10,000
NEg egael 379,574 1,323,560 943,986
101 @124 bl 79,092 0 79,092
04JI2HIERNSES 79,092 0 79,092
0L ZEN B4 79,002
OLIEL 74,4008 * 3% 262 * 128 69,639
OdiEEE 7,353
-2ei013 69.639,0008! * 4.5% 3.134
-AYPHE 69,639,0008! * 3.23% 2,250
-EIQUREE 2,250,0008! * 8.51% 192
-182HE 69,639,008 * 1.5% 1,045
M EE 69,639,000 * 1.05% 732
O = & IHy| 200,0008 * 3% * 23| 1,200
O=xmoE 300,0008 * 3% 900
201 Yere | 282,152 220,230 61,922
01 AL 22l H| 1,407 0 1,407
CEEME 694
OFJ| QHFB2IX 100,008 * 22 » 95% 190
ozzZoIB wateeln
200,000 * 1% * 95% 190
OL2J SEB2AX 30,0008 * 19 » 95% 29
OMEAE SHE BRI
300,000 * 12 * 95% 285
OEAZ AR T2 713
Oo® 3t 60,0008 * 3% « 95% 171
ong= 90,0008 * 3% * 95% 257
Ogrer= 10,0008 * 3% * 95% 285
0222 280,745 220,230 60,515
ONEEMZ 20 242 64,416
SERIPII-BIE-E 150,000 » 20K 300
OLY) SHBAUY +42
250,000 * 204 » 128 6,000
OAgorEDe Ha+42
370,0008 * 144 * 128 4,440
OFJIQHE 2l 8 44 2 (800KN)
731,0008 * 128 8,772
OENE ®IIgH FIIE
1,100,008 * 174 1,100
O#UZI L& =8 500,0008 * 23] 1,000
o=yz+2 +ZTM 10,0008 * 23] 200
OM$Z +BAA 10,0008 * 23] 200
OHA goias 420,008 * 63| 2,520
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2N

 —
=
X ZXH: 2
=R IR
X

CHel: HFABES M2 2A22H (S HA)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
01 & bl 8,330 8,330 0
Ost&Ea & HAEE(58) 8,000,000& 8,000
ods) SEY 16,5003 * 208t A 330
405 X+HaHF SHI 10,000 15,000 25,000
01 AL =2 EF SHI 10,000 15,000 25,000
oOdYLeE )| (dEY) 5,000,000& * 2CH 10,000
-8B A2 olZet 235 982, 156 1,256,224 A 274,068
201 et A | 712,026 787,524 AT5,498
01 AFR2t2ldl 56,144 53,360 2,784
OBE YAl ATENH WAl 25,100
OPCE 28,000& *» 5002 * 95% 13,300
OKH & (Windows Server)
400,000& = 1282 * 95% 4,560
OMB = (Linux Server)
750,000& * 92 * 95% 6,413
OAhnLab Policy Center
870,000& = 12 = 95% 827
oPCE AZEN 20,425
OMicrosoft 0ffice Standard 2016
400,000 = 30& * 95% 11,400
Ost&Z20lA 2018 st=
200,000& = 30& * 95% 5,700
OLEXEFT 12.0(H2240IHA)
16,000& = 1002 * 95% 1,520
OodtEEota 9.0(0l S XPCE)
38,000& » 502 * 95% 1,805
OCHWAHIA THQ ASE
140,000 * 13 x 95% 133
OEZHOIXl AHos 0lg2
3,000,000& * 13 * 95% 2,850
OAEOIOIEANEZ 500,000& = 14 % 95% 475
O NLHAMAIE
1,800,000& * 149 * 95% 1,710
OANIEZ M Ot EE 2,565
OB 22 1,000& = 1,30000 * 95% 1,235
(@)=E=1=4 70,000& * 2000 * 95% 1,330
OANEE M DI RS 1,110& * 2,600 2,886
02 =294l 655,882 734,164 AT8,282
O MZ2IAAE H/W,S/W SXI22I(328)
3,000,000& = 12& 36,000
OEMNZ UWESRA L ZotRH| S 22I(15E)
7,584,000& * 12& 91,008
ORFID AIAEL S22 (12004 ,105)
12,000,000& * 12& 144,000




2N

X{ XH -
S =

_ _ _ SHE|
CEHB O (BH) - MBEAY - BAS %Eﬁ HRZ2
OCCTV AlAE SXI2el(12IHA)
2,807,0002 * 6" 16,842
OEHOIX SXZel(35) 900,000€ * 12¥ 10,800
OPC ¥ T2l SX22l(18HA)
3,500,000 * 12¥ 42,000
OFEENA 2 U SBHEH KK 22l (13M
A) 2,750,000 * 12¥ 33,000
O2NESMHIA 22 (130HA)
900,000€ * 12¥ 10,800
OYUBIMS L TAHEBAMHIA MM A2
20,500,0002 * 122 246,000
OU-ADIEREC M SXIZ2(3HA)
1,762,0004 * 12¥ 21,144
OFT210 & Xl 32,0002 * 134CH 4,288
206 24l 2,520 3,000 2480
01 24| 2,520 3,000 2480
OYLESAALZE M 2,520
oYz 2 s Holg 6,0002 * 400m 2,400
OANIEZNE AEIHA 602 * 2,0000H 120
207 SR IH 2| 22,000 20,000 2,000
02 & AN Y 22,000 20,000 2,000
OLEUE SN MHIA 2= 22,000,000 22,000
401 AlAHI 2L 200 12,000 124,000 A 112,000
01 Al&H| 12,000 124,000 A 112,000
O AT UEST 2L SAZA
1,500,000 * 8JH A 12,000
405 KHAHE SHI 233,610 321,700 A 88,090
01 IHAtY 2 E F SH 226,110 314,200 288,090
O-F: MM AR 70,000
OZEH 1,400,000 * 50CH 70,000
OEMZ TAY BOorA Y 156, 110
OIPZElAlAE 68,830,000 * 1K 68,830
OgIH 48,330,000 * 1K 48,330
OFE AT AIAE(IPS)  38,950,0002 * 1K 38,950
02 S AR 7,500 7,500 0
OU-ADIECMHZ SAHZRY
12,5002 * 200 * 300 A 7,500
AT M2 24 237,928 244,860 26,932
201 Y2 15,248 14,900 348
01 AP 22| H 1,748 3,900 A2, 152
CEr B/ 70,0002 * 12J0 * 95% 798
OX2TAHT 2l 5Y
10,0002 * 1008 * 95% 950
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=
X ZXH: 2
=R IR
X

Ce HFANEZAZY 2el2Z (&)
= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A2 Z Hl 13,500 11,000 2,500
OO0t 232 ¢
1,000,000& * 400 2 4,000
OOt SEZ=Z2 500,000& * 8IH & 4,000
oOX2ZN2 2EX
500,000& = 3Y « 23] 3,000
ozdg 2IXNHA3I 150,000& * 103l 1,500
ONSTAHZ 2T HASY
100,000& = 53 » 2« 1,000
206 M= Hl 2,500 3,000 A 500
01 M= 4l 2,500 3,000 A 500
ONF S= BSGCAB CAHEISE
500& * 1,000& = 50 2,500
301 LA F 960 960 0
09 SALEHIX A S 960 960 0
OXSENMZ HAXNAS AR S A
8,000& = 30% = 42| 960
307 21201 A 110,580 114,000 A 3,420
02 It S AIHE L 110,580 114,000 A 3,420
OXST AN 2ZHl XA (ASS)
4,000,000 * 502 * 97% 19,400
OXST AN 2ZHl XNEBSS)
3,000,000& * 1700 * 97% 49,470
OXET N2 B2 24l XA
1,000,000& » 1004 = 97% 9,700
OX2 N SASOeI XN K&
1,000,000& * 504 = 97% 4,850
OXSTAZ MTZ AKX
16,000,000& * 97% 15,520
OXRSETHE AMX HEXH
6,000,000& = 23| * 97% 11,640
402 RI2HXt20l ™ 108,640 112,000 A 3,360
01 212t 2 AL E = (REM ) 108,640 112,000 A 3,360
oOx2ZTN2 &AM N IR &
000,000 * 2844 * 97% 108,640
oA SHl NJAZ 67,500 60,000 7,500
< 20,250
Al 47,250
405 TtobH S| 67,500 60,000 7,500
< 20,250
Al 47,250
02 TN 67,500 60,000 7,500
OXSETAHZ THTY X (CHIHE)
67,500,000& 67,500
< 20,250
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 —
=
X ZXH: 2
=R IR
X

ool BFEARTAZY B2 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 47,250
SN2 HE2st 47,523 24,550 22,973
201 €2l 42,523 19,550 22,973
01 At 22/l 26,173 9,550 16,623
OSMBHM B0 M
70,0003 = 1500 = 95% 998
OANREHARE 29
100,000& = 10H = 83 * 95% 7,600
oOTNZ EE2E23 M
20,0003 = 25000 = 95% 4,750
OSHEE ST B
100,000& * 1500 * 95% 1,425
O M& AATX M=
2,000& = 3,000% = 23| = 95% 11,400
02 =224l 2,000 0 2,000
OF= Moz TA 823 &3l
2,000,000& 2,000
03 A2 Z Hl 14,350 10,000 4,350
OFFA B2¥ SNIY 29
1,000,000& * 93| 9,000
OFFA NG N2 HHMEZI] 5,350
OFMEES EENE Y
500,000& * 109 5,000
OEHEEZE3 Y 70,000& = 504 350
203 ¥ S =&l 5,000 5,000 0
03 AIZ=XH 2 =X H| 5,000 5,000 0
ONZ 29 gRFZ 5,000,000& 5,000
SN2 CESMHIA X2 A 5,800 0 5,800
= 4,000
Al 1,800
201 ¢4l 5,800 0 5,800
= 4,000
Al 1,800
03 A2 Z Hl 5,800 0 5,800
020208 T A2 THEstMblA K& A
5,800,000& 5,800
= 4,000
Al 1,800
SSUA MElA 103,433 98,934 4,499
201 £B-2%H| 93,033 86,454 6,579
01 At 22l 2,565 2,700 A135
OMSUX MHIA HAES(2EIIHES)
150,000& » 18I0 A = 95% 2,565
02 =224l 90,468 83,754 6,714
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 —
=
X ZXH: 2
=R IR
X

ZSNB 2Y
ool BFEARTAZY B2 (B9 ®R)
= - — SHE|
M- =8 s (3) - HRAMY - BES 0l &t o8 il HlnE2
ONMSUHA MHIA SX2el
4,308,000& » 2100 2 90,468
301 LEHZ 10,400 12,480 A 2,080
12 JIEBHE4 = 10,400 12,480 A2,080
ONSUR H2EM2 NJSAX 254l
20,0003 * 104 = 5 10,400
N2 2A22H 684,000 0 684,000
308 XXl EHH SOl A 684,000 0 684,000
10 3J/2S0HUHSEHEAE ALS HI 684,000 0 684,000
ogazN2 24 57,000,000 * 12& 684,000
S 2 705,939 853,672 AN 147,733
SN2 =SS 147,725 183,482 AN 35,757
201 £B-2dH| 61,325 44,682 16,643
01 At 22l 61,325 44,682 16,643
OFIIHEE =R 25,331
OF3=9N| 15,0002 * 22T Ab = 128 = 95% 3,762
OXI&X 13,000 » 19J0HAL = 128 = 95% 2,816
O=F2tX 5,000& * 1500 At » 52=F * 95% 3,705
OZ2tX 11,000& * 1200HAL = 128 = 95% 15,048
O=LH& SRl 2¢cte! HOIHMolA A2t ol8=2
8,850,000& = 13| = 95% 8,408
QV0D MHIA AH2E 0I8F
1,559,000& * 13| * 95% 1,482
OXNHH= 2t 0IB2(RSE MXH)
20,000& = 7508 = 95% 14,250
OFXAHHE=S (L)
100,000& * 508 » 95% 4,750
oor=2 =4l 1,110& * 6,400& 7,104
206 M= Hl 6,400 8,800 A 2,400
01 M2 4l 6,400 8,800 22,400
O&M HelES3 6,400
ORFID TAG 500& = 6,40004 3,200
OctegsEX2 93 500& = 6,40004 3,200
405 XHobF S HI 80,000 130,000 A 50,000
02 =M=l 80,000 130,000 A 50,000
O&AM 80,000
ogere A 12,500& * 6,400 80,000
gEMZ 2 E Y 22 52,710 74,260 A 21,550
201 Let2d] 48,110 66, 160 A 18,050
03 A2 Z Hl 48,110 66, 160 218,050
OEAMZ 2tZ20d8 24 40,910




SH CHBHMSSEE ANYCAHDB
M ZDCHDY 29
el NRIEAE 29 CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OB A=g
35,000& x 2A2F = 2201 BF * 243] 36,960
@)=E=4 70,000& * 1504 1,050
Oos=239 2,900
-2 &Xl 1,500,000 = 1JH 2 1,500
-=9 oA 70,000& * 20<¥ 1,400
O=SAEXN E2)H 29
35,000 * 2Al2t = 503 3,500
OZ M2 =2t AL 1,200,000& = 13 1,200
OsAMoAY A 2,500,000& = 13| 2,500
206 M = Hl 1,800 1,800 0
01 X Z Hl 1,800 1,800 0
o=stmz ) 229 M=t
300,000& * 3= = 23 1,800
301 dEtE A = 2,800 4,800 A 2,000
09 HAIAHI X &= 2,800 4,800 A 2,000
OSZ=z 18 XAJASALA 24HI
88,0009  25&H x 4L 800
OMSIE XAJASALA AU X
20,000 * 10¥ = 103 2,000
NBEND HEIYA 29 32,673 49,100 A 16,427
201 Bt A H| 2,093 8,680 N6,587
01 Al 2+2/H 1,83 7,750 6,467
OX=Z A3 & IH|
100,000 * 6 * 13 * 95% 570
O X S AR =) 15,000& = 5000 * 95% 713
02 35249t 810 930 A 120
O & 3ldl 810
Ost=2Z & 360,000& 360
O A 450,000& 450
206 T 2 bl 18,100 18,100 0
01 &2 bl 18,100 18, 100 0
OMIIESHE 3,000& * 4004 1,200
O XS Al AFQIAI A& 100,000& = 104 1,000
OMdM Ex=2 HY 150,000 = 102 1,500
ORFID EHO(E42) 5002 * 5004 250
oOXNsUHEEYE) g5 X
3,000& = 2002 600
oMe)|(MEUESE) 40,000 = 2004 800
OANZ2E J|e8A 20,000 * 2504 500
Ol EIE RS 6,500
OUHE3ddS 1,500& * 3,00004 4,500




SN CHRBMSEZE AYCHR
IM: BTSN 2
Sl NPENE 29 SREED
(o
SA BB (SH) - NRAY - B %@ﬁ 2t
O3Jteels 80,000& * 204 1,600
odl=ezaecey 10,0002 = 4004 400
O EM=E 10,0009 = 5004 500
oOdIIUHE=E AEIA 1,000& = 2,0004 2,000
OXEXNEA 24 XM 3,150
(@)=l 35,000& = 20 700
[OFI== 15,000& * 204 300
oot A 15,000€ * 104 150
OdllE4 (DVvoZ2 & 5) 50,0002 * 4074 2,000
oOFXEZEHE X 20,0008 * 58+A 100
301 et M= 12,480 8,320 4,160
09 #HAIAHI XIS 2 12,480 8,320 4,160
OEMAE2l XNIASAX 24|
20,000 = 6YH = 104< 12,480
HA=EHF HSAI2SH I 93,255 94,400 A 1,145
201 2Et24Hy| 84,055 91,000 N6,945
01 AP 22| d| 855 1,000 A\ 145
OASEE DA HZ 3,0008 * 3008 * 95% 855
03 A2 EH| 83,200 90,000 N 6,800
OHESZAM 12,500& * 5,000& 62,500
OHESZANM EE AEIHA 300€ = 5,000H 1,500
O IZA SHAHIE 8,000,000& = 13| 8,000
o2d9s¢ 1,200
OWEEA XItLoisg
00,000 = 3¥H x 23] 4,200
OE=3 Mayag
35,000 = 2A|2F = 1003 7,000
206 M = dl 2,000 600 1,400
01 X2 bl 2,000 600 1,400
OZ2IY 2% 428 7
200,000 = 108l 2,000
301 dEtE M= 7,200 2,800 4,400
09 #HAIAHI XIS 2 7,200 2,800 4,400
OMYASHT HA AT SAY|
8,000& * 20 = 203 3,200
OMU=HE UHASAT Al
20,000 = 20 * 103 4,000
W22 2e2d 9,883 9,610 273
201 LBt | 1,473 1,200 273
01 AP 22| d| 1,473 1,200 273
oAR2E 2 100,000 = 128 = 95% 1,140
onza+x=4| 1,1108 = 300& 333




SN SHEBMSSRR NYEAD
M ZDCHDY 29
el NRIEAE 29 CEEEED
5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
206 M= Hl 500 500 0
01 =8l 500 500 0
O=ZMN HelgZ(etegEX el 98)
500& = 1,000H 500
301 LEMZ 4,160 4,160 0
09 SALAHIX A S 4,160 4,160 0
OEAMEel NFSAX 2S4aH|
0,000& = 2F = 104 4,160
405 XtatE SHI 3,750 3,750 0
02 =M=l 3,750 3,750 0
OEAM7Y 12,5002 * 300& 3,750
JIEgEN22HA 369,693 379,220 NQ,527
201 LBH2E| 1,443 2,220 ANTTT
01 At 2t 2l 1,443 2,220 NTTT
onta 7=t 1,110& » 1,300&A 1,443
307 21201 A 352,000 352,000 0
05 RIZt2IEt = 352,000 352,000 0
QJIEAENZ 29Y 352,000,000 352,000
405 XHoHF S HI 16,250 25,000 A8,750
02 =M=l 16,250 25,000 A8,750
OEA 12,500& * 1,300& 16,250
SEE M2 DIBtAIE &3 5,725,000 5,000,000 725,000
s 2,570,000
= 577,500
Al 2,577,500
SN2 HE 5,725,000 5,000,000 725,000
s 2,570,000
< 577,500
Al 2,577,500
NHEXNF EM2AE 5,725,000 5,000,000 725,000
s 2,570,000
< 577,500
Al 2,577,500
401 Al HIZ 201 Y] 5,725,000 5,000,000 725,000
s 2,570,000
< 577,500
Al 2,577,500
01 A& HI 5,711,000 4,190,000 1,521,000
ONBXNZ(NZ2F)EHZHEE I A
5,711,000, 000& 5,711,000
s 2,570,000
< 577,500
Al 2,563,500




SH CHBHMSSEE ANYCAHDB
H: TBEAD IIBAL =5
H?: SSEM2 AE (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
03 AlE 2 THHI 14,000 10,000 4,000
ONBXNROI2)EN2AZ S A
14,000,000& 14,000
HY2HIH (N 2ABMESES=22 AMECAZ) 1,293,325 2,058,994 AT65,669
= 54,888
[ 27,444
Al 1,210,993
eI 2 1,034,731 1,365,172 A 330,441
= 54,888
[ 27,444
Al 952,399
ol Al 867,241 896,596 A 29,355
101 @124l 867,241 896,596 A 29,355
01 2= 325,050 278,073 46,977
OAZteZ2R= 325,050
ogeHs 10,7499 = 849 « 30AI2+ 128 325,050
02 JIEtA 2 == 123,830 132,044 AB,214
OAZAZRSE 123,830
OZdslsa FAES
10,7493 = 2% * 30AI2t = 128 7,740
OSHZ HANSS
10,7493 = 21% = 30AI2t = 128 81,263
OAlZtd = IR
10,7493 = 9H = 30AI2t = 128 34,827
03 I AHA22RHE* 418,361 486,479 A68,118
ONEBEEANZ RzaFel Z22A E= 165,703
oJlez(t2) 109,038
632 2,234,590& * 2%¥ * 123 53,631
83 2,308,590& » 2% » 12&8 55,407
o254 113,570& * 4% » 12& 5,452
O&d=+¥ 50,000& = 4% = 128 2,400
OZ 2 FotHl 1,135,790 * 49H * 23| 9,087
OxzH2R+E 158,200& = 49 = 12 7,594
OF A=A 130,000& = 49 = 128 6,240
OgItE &l 84,400 = 4% = 20 6,752
OPIE=E = 1,920
—bi 2 Xt 40,000% * 28 * 123 960
-JIEHILS 20,000& = 4% = 128 960
(OPIER IR =
390,000& = 1 = 42 7| 1,560
o442 = 15,660
=gz 148,355,000& = 4.5% 6,676
AL LEE 148,355,000& * 3.23% 4,792




SH CHBHMSSEE ANYCAHDB
B BHSARU(CHREMSSER ANYCTHD)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
B3I LEE 4,792,000& = 8.51% 408
-IEEE 148,355,0002 * 1.5% 2,226
“MTHEE 148,355,000& * 1.05% 1,558
OANEEZN2 =3AN SRH B 88,510
oJlga(uz 458)
2,225, 710& » 2% » 128 53,418
Ot =y 111,280& * 2H » 12& 2,671
O&d=+¥ 50,0003 = 5% » 123 3,000
OFE FItHI 1,112,850& » 2% « 23| 4,452
Oxzzfs¢ 1565,200& * 28 » 12& 3,725
O&FHZ Al 130,000& = 2H » 12& 3,120
O ItE &I 82,800 * 2% x 20 3,312
OP == 1,920
—bif < Xt 40,0002 * 1¥ * 123 480
-JIEIHE 60,0003 = 28 » 123 1,440
OXtHSH ExY
390,000& = 18 = 42| 1,560
O=3IMA Y28 SHI
0,000& = 2 * 6 » 123 2,880
C4E2E = 8,452
B = 80,058,000& * 4.5% 3,603
-A2EE 80,058,000& * 3.23% 2,586
IR E 2,586,000& * 8.51% 221
-IE2d™ 80,058,000& = 1.5% 1,201
-MTHEE 80,058,000& * 1.05% 841
OANEZN2 MA S2H E= 91,191
oJlzzuzs 11ss)
2,545,610& » 2% » 128 61,095
o254 127,280& * 29H » 12& 3,055
O¥d=< 50,0004 = 28 = 123 1,200
OZFEFItHI 1,272,800 * 2¥ » 23| 5,092
OxH2ZR+E 176,100& = 28 = 123 4,227
OFHZ Al 130,000& = 2 = 12& 3,120
OAIIE &HH| 93,9203 * 28 » 20¢ 3,757
OPIE=E= 960
-t < Xt 40,0002 * 1€ * 123 480
-JIEIHE 20,0003 = 2¥ « 1238 480
C42E= 8,685
-=20AHZ 82,263,760& * 4.5% 3,702
-HLEE= 82,263,760& * 3.23% 2,658
-HIIRSBES 2,657,120& * 8.51% 227
=g N 82,263,760& * 1.5% 1,234
-MHEEE 82,263,760& * 1.05% 864




SH CHBHMSSEE ANYCAHDB
B BHSARU(CHREMSSER ANYCTHD)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OANEZNZ HARYE BRE B 38,664
oJleza(ta 458)
2,160,590& * 1¥ » 123 25,928
OozZ2s+¢ 108,020& = 1H = 123 1,297
O&d=+< 50,000& = 19¥ = 12& 600
OFEFOtHI 1,080,290& = 1H * 23] 2,161
Oxzh2Zf=E 151,000& » 198 = 128 1,812
OF Mg A 130,000& = 1H = 123 1,560
QA2 &I 80,5603 * 1H » 20 1,612
C42E = 3,694
e = 34,967,100& * 4.5% 1,574
-HABEE 34,967,100& * 3.23% 1,130
B3I RISBES 1,129,430& * 8.51% 97
-Ng88s 34,967,100& * 1.5% 525
-MHEEE 34,967,100& * 1.05% 368
OANBEZ N2 SH2e SRA B 34,293
OJI=23 (U2 258)
1,986,590& * 1¥ * 123 23,840
O&d=+¥ 50,0003 = 18 » 123 600
OZFEFItHI 993,290& = 1Y « 23] 1,987
Oxzzfs+¢ 133,600& * 1H » 123 1,604
O&FHZ Al 130,000& = 1H » 12& 1,560
O¢ItE &t 71,280 * 1% = 20 1,426
C42Eg= 3,276
=03 31,014,460% * 4.5% 1,396
-HAEEE 31,014,460& * 3.23% 1,002
-“AJeLEE e 1,001,770& * 8.51% 86
-IEEEE 31,014,460& * 1.5% 466
-MHEE = 31,014,460 * 1.05% 326
MNEEZAZ A HE 29 167,490 104,128 63,362
= 54,888
[ 27,444
Al 85,158
101 @124 167,490 104, 128 63,362
= 54,888
[ 27,444
Al 85,158
03 RIAHAZ 22+ 167,490 104,128 63,362
ORINHAZZX B 167,490
oJezta 788)
2,271,590& » 4% » 128 109,037
= 54,888
< 27,444
Al 26,705




SH CHBHMSSEE ANYCAHDB
B BHSARU(CHREMSSER ANYCTHD)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
ozas+¢ 113,590 * 4% « 128 5,453
(OF F=E=, 50,000& ~ 4% x 12& 2,400
OY ZE I 1,154,290& * 4H * 23] 9,235
OxU2RE 166,800 * 49 = 12& 8,007
OFHZAH| 130,000 * 49 x 12& 6,240
O4 I E A 85,6803 * 4% x 20 6,855
OIESY 4,560
—-bif < X+ 40,0008 * 3¥ = 128 1,440
BE! 130,000 * 29 = 128 3,120
O4EgZE J|a8e=2 15,703
-=20133 148,875,000& * 4.5% 6,700
-HABE= 148,875,000 * 3.23% 4,809
-AIIRYEBEEZ 4,651,000& * 8.51% 396
-Eg88=s 148,875,000& * 1.5% 2,234
-MHEEE 148,875,000 * 1.05% 1,564
| &2 &l 258,594 693,822 N435,228
Jl 2 dH| 258,594 693,822 N435,228
201 2yt 2 Y| 201,164 622,454 A 421,290
01 At 2t2l ] 41,401 57,578 N16,177
oJlegesadssHd (JI=8])
500,000& = 259H 95% 11,875
o2&l (J1=&dl)
8,000 * 25 » 82 x 128 * 95% 18,240
OFIAZE 22=
120,000 * 2% * 23| * 95% 456
OW. 240 SXl&2l
40,000 = 50 = 128 * 95% 2,280
O2JIFAI| RA2el
45,000 = 10CH ~ 128 * 95% 5,130
OANEEZA2 Ro1AH|
300,000& * 12€ * 95% 3,420
S229H| 159,763 564,876 N405,113
oRWER2 1,425
oLt 350& * 1,000= 350
OsII 2,150& = 500= 1,075
ONX=2 A A2l
3,700,000& * 3CH * 8% 888
oRdEs= 32,450 * 404 ~ 128 1,558
odER=3 77,582
oJlze= 6,370 * 230kw * 12& 17,582
OoANEHRS 100& = 50,000kw * 12& 60,000
Oa - o2 1,920 * 900m = 12& 20,736
OXNYGLERS(AIEY) 40,624




SH CHBHMSSEE ANYCAHDB
BE: BN YA (CHABUSASER NYEHD)
& 123l (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
oJleesa 362& * 650mcal » 12& 2,824
OUNE=3= =] 90,000& = 35Gcal * 128 37,800
OXNsIEE 500,000& =« 3CH 1,500
O Xt = XHAl 100,000& * 34 300
O Xt& & By 14,500
Osgxt 6,500,000& = 20H 13,000
OSEXH(EIIA) 1,500,000& * 1CH 1,500
OslH=2d MEEBSEE(3E ML)
650,000& 650
202 o4dl 27,360 50,688 N 23,328
01 = LH 4 Hi 27,360 50,688 N 23,328
O©JIZEZH
20,0003 = 25%H » 8 » 12& = 60% » 95% 27,360
203 Q2= A Y| 18,070 20,680 ~2,610
01 J|22F PR =8| 6,000 6,000 0
OJFEAH(42) 6,000,000& 6,000
02 At ERFEH| 6,730 6,220 510
QJ&E A 6,730
O 100 Dt Xl 40,000& = 100 4,000
O 101~400H 30,000& = 91H 2,730
04 EAN2I LRI 5,340 8,460 A3,120
QI &= 5,340
OJ1=2(3080lat) 400,000& = 123 4,800
O=1H(31210]4H) 5,000& = 9% « 128 540
405 XHarE S| 12,000 0 12,000
01 AL EZFH S 12,000 0 12,000
oy 12,000,000& 12,000




H = 0 A&F AF S & Al
20208 & 20l & LEGH SAHZHMSISGEE AMEBEMH2 ~ & M S22 dMNsisa
2N SA2EHMSISER QEASHT A
HM: BEANS 2 (2L 2Z /250 =)

9l QHEACHT 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
CAALEMSIEER QLESHET A2 3,033,302 1,362,741 1,670,561

= 192,108
T 96,054
Al 2,745,140
23T A 2H(BL2AZ /250 =) 1,459,524 1,362,741 96,783
QEASETAZ 2 530,474 231,071 299,403
QESHTTANZ NZES 143,216 154,920 N 11,704
201 2yt 2 Y| 56,816 25,320 31,496
01 AFR2t2l bl 56,816 25,320 31,496
OLES T AN HIIAHS(RE, X)) RS
= 14,022
O 15,000& * 15J0HAF » 128 * 95% 2,565
O Xl & X 13,000& * 109HAF » 128 * 95% 1,482
O& 2t 11,000& * 500HAF » 128 * 95% 6,270
OF2HX 5,000& * 15JHAF * 523 * 95% 3,705
ONYZ A2 HIAHMES(EX) RS= 10,473
O&E 2t 11,000& * 52IHAF » 128 * 95% 6,521
OZF2+X] 5,000& * 16IHAF * 523 * 95% 3,952
OHIT AN HIAHS(EX) RS2 10,226
O 2K 11,000& * 52IHAF = 128 * 95% 6,521
OF 2t 5,000& * 15J0HAF * B2 % 95% 3,705
OLEZ AN HIIUAHMS(EX) RS2 6,251
O& 2t 11,0003 * 400HAF » 128 * 95% 5,016
OF2HX 5,000& * 5 AF * 522 % 95% 1,235
OSYL A2 HIAHES(EX) RS2 8,740
O& 2t 11,000& * 50HAF » 128 * 95% 6,270
O=F2+X] 5,000& * 109HAF * 523 * 95% 2,470
ooz x=dl 1,110& = 6,400 7,104
206 M= Hl 6,400 9,600 A 3,200
01 & bl 6,400 9,600 A 3,200
OEANE2ES 6,400
ORFID TAG 500& * 6,4000H 3,200
Octd Sk 2 93 500& = 6,4000H 3,200
405 XH&HF S HI 80,000 120,000 A 40,000
02 &M+t 80,000 120,000 A 40,000
O&EAM 12,500& = 6,400 80,000
QLESHCME SFEZNY 29 54,860 29,860 25,000
201 LEr2 Y| 52,060 29,060 23,000
01 AR 22| bl 3,800 3,200 600
OSSN E 2,000& = 1,0008 * 95% 1,900
OCANZ EE= 2,000 = 1,0008 * 95% 1,900




SN CARBYSSESY QESLTND
HM: BEANS 2 (2L 2Z /250 =)
S QHSATHY 2Y (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
03 S AtS H b 48,260 25,860 22,400
O=SNSEZ 1Y 29 21,860
RANES=
35,0003 * 2A12F = 120 Bt x 243 20,160
Og 9 70,000& * 204 1,400
OZz )y 2HALE 100,000& * 3= 300
O M& F=2tSH AL 1,000,000& * 13 1,000
OSsAY &AL 1,000,000& = 13l 1,000
Oo0ts=2t =359 500,000& =* 53] 2,500
OSAE2IF=HE = 21,900
OXNSEANE Z3tH A 500,000& =* 63 3,000
oaotze 29 300,000& = 1500 2 4,500
Ol sSMHMUEs X
500,000& =* 43| 2,000
ogemetol g8 7,400,000& 7,400
OA2R2E 2 JIEtEAI2E Y| 5,000,000& 5,000
203 22 EF | 2,000 0 2,000
03 AIHF=X SR =AH| 2,000 0 2,000
OEANZ HRFX 2,000,000& 2,000
301 deEtE X = 800 800 0
09 HALAHI X &= 800 800 0
OSNEIZE2 08 NHIASALAL S 4H|
8,000& * 10¥ * 103 800
QESLCTAHD NRITA 29 22,648 27,025 A 4,377
201 et A | 3,933 3,060 873
01 AFR22t2ldl 3,423 2,550 873
oZelH EY 220,000 = 6IH * 95% 1,254
OZ2AJ] EY 260,000 * 20 * 95% 494
O=2AEX 21,000 » 108fA = 95% 200
O=2AD] EH 500,000 * 1JH * 95% 475
o= M2U3 Iy
100,000& » 10¥ = 13 1,000
02 3524l 510 510 0
O 83l 510
Ost=2 & 360,000& 360
O3 A& 150, 000& 150
206 M= Hl 12,475 11,925 550
01 X2t 12,475 11,925 550
OENUEIAS 6,600
OosEsIHte 1,500& = 3,0004 4,500
ogzTZell el 80,000& = 204 1,600




2N
X ZH -
L= B

el

CEH SR (BH) - NBAY - B2 O 4t 0t il 2
Odle3aely 10,000 * 504 500
OXg &l AtCl= 100,000& = 2004 2,000
ONZHM=E 10,000 * 30H 300
OENEs+E HOolZ 150,000& * 58 750
oOXNsUHEEY) g5 X
3,000& * 2002 600
o= 3,000& = 504 150
OCINEX=za 29X 975
(@)[E=s 35,000& * 1504 525
OIIBE 15,000& = 150H 225
(@)= 15,0002 * 1504 225
OAI2& I8t A 20,0008 = 1504 300
OHIED(MNEUHEE) 40,000€ * 200K 800
301 dEtE2XZ 6,240 6,240 0
09 HALAHIXI &= 6,240 6,240 0
O ANME2 NIASAL 2SS4
0,000& * 3% * 104 6,240
LESTT A AIESS A 2L 106,260 19,266 86,994
101 2124 1| 81,771 0 81,771
04 JIZtHIZ22NHEE 81,771 0 81,771
OHA =EE H4(3Y) 81,771
[@)eirals] 74,400& * 3Y * 26 x 12& 69,639
o4HEeg = 7,353
-=0H= 69,639,000& * 4.5% 3,134
-HAAEE = 69,639,000& * 3.23% 2,250
-3 UYEE= 2,250,000& * 8.51% 192
-Eg8s8s 69,639,000& * 1.5% 1,045
-MEEE 69,639,000& * 1.05% 732
Og &=yl 200,000& = 3Y = 23] 1,200
O X2 AHH| 74,400& * 3Y¥ x 12¢ 2,679
O=XNEOUE 300,000& * 39 900
201 LEt2 Y| 13,491 10,268 3,223
01 AR 22| bl 13,491 3,600 9,891
ORI HHIAIAE S22l
300,000& = 12& * 95% 3,420
OdE4I| A2l
37,300& * 8CH x 12& * 95% 3,402
O2JIFAD| RA2el
45,0002 = 13CH ~ 128 * 95% 6,669
206 TH 2 HI 10,998 8,998 2,000
01 M= bl 10,998 8,998 2,000
OsI&A U HAZE4E) 10,000, 000& 10,000




SN CARBYSSESY QESLTND
HM: BEANS 2 (2L 2Z /250 =)
S QHSATHY 2Y (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Od=2dEx) SEH 16,500& * 128t A 198
oOFAMB2ES(HZS 2 95)
50,000& * 10 500
OFMEZE(BIEQ 2&) 50,0008 * 35 * 23 300
SANUA 105,200 105,200
201 LBt A H| 98,800 98,800
03 &AL E H| 98,800 98,800
OFF SMHAUNE 29 98,800
OXEAH & 223 MA 33,0008 * 3,0005 9,000
OEE2=2 H& 3,000& * 3,000% 9,000
Osls+=a H& 70,000& = 504 3,500
oy &9 M= 500,000& = 5JH 2,500
O &M 5,000,000 = 13| 5,000
OZAMNE=S(SEEI =& L MOIL)
,000,000& = 5H 10,000
OZAIx=g(Heg=Zzz )
35,000 * 30Y * 4A|2¢ 4,200
OSHE 2 0tS3S 23 HlE
1,000,000& = 54 5,000
OMEgZz )8 MEHl 300,000& = 2004 6,000
OHAIAZE 2 H| 300,000 = 20 6,000
OF WA &bl 9,600,000& 9,600
OMERA L 2UHAIE HOH]
200,000& = 2004 4,000
O&AI S HI 2,500,000& * 23] 5,000
OZz)dEad9y| 500,000& = 203 10,000
OHAIEE = 5,000,000& = 13| 5,000
o2& BEXsA 2EH| 5,000,000& * 13 5,000
301 dEtE X = 6,400 6,400
09 HAIAHI X &= 6,400 6,400
OFF SAUE 228 NASALX X3 6,400
ORFZAT AH X &
20,000& = 100¥ * 23] 4,000
OXESALAH 24H  8,000& * 150H = 23] 2,400
2o 23 22t VR Hlgs 29 98,290 98,290
401 Al HI L 2 0HHI 8,190 8,190
03 A& 2 0HH] 8,190 8,190
OVRHMIE 2 Al AlE Z A} 8,190,000& 8,190
405 XtabF SHI 90,100 90, 100
01 JHML = EF S HI 90,100 90, 100
OVRAIAE 2= 90, 100, 000& 90,100
S@EME 2H 203,017 19,009




CHBBMS SRS QHEAT A
22T SH (ST /2500 =)
AYEANZ 2Y (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
AEEANZ NS ES 84,195 119,952 N35,757
201 Bt H | 11,295 22,752 AN 11,457
01 AP 22l Yl 11,295 22,752 N 11,457
oOFJI2LHE R=EZ 5,301
OsLX 15,000& * 18IHAF » 128 * 95% 3,078
ORI X 13,000& * 15J0HAF » 128 % 95% 2,223
oo zax7=4l 5,994
oota=x=yl 1,110& = 5,400 5,994
206 M= Hl 5,400 7,200 A 1,800
01 &2 bl 5,400 7,200 A 1,800
OEANE2ES 5,400
ORFID TAG 500& * 5,400H 2,700
Octd Sk 2 95 500& * 5,4000H 2,700
405 XHo&HF S HI 67,500 90,000 N 22,500
02 &M+t 67,500 90,000 N 22,500
oM 12,500& = 5,400 67,500
AT Stz )H &9 29,490 28,760 730
201 LEt2 Y| 27,890 27,160 730
01 A2 22| bl 3,230 2,500 730
OSSN E 2,000& * 800 * 95% 1,520
OEANZ EE= 2,000& * 45058 * 95% 855
OsSIolEBE 300,000& * 3JH * 95% 855
03 S AtZ L I 24,660 24,660 0
O=SNESE 1Y 29 20,810
Q2 A=
35,000& * 12J08F = 2A12F = 243] 20,160
O8 5 70,000& = 54 350
Ox2EFY 300,000& * 13 300
O M& =2t AL 850,000& * 13 850
OSsAY &AL 1,000,000& = 13l 1,000
OF) ots=32" =339 500,000& =* 43| 2,000
301 dEtEX = 1,600 1,600 0
09 HAIAHI X &= 1,600 1,600 0
OSNES Z2 03 TUISAMA SAH|
8,000& = 108 * 203 1,600
NYTHT R2ZTA 29 17,662 21,065 ~3,403
201 LEt2 Y| 2,232 2,335 A 103
01 AFR2t2l bl 1,967 2,070 A 103
oZglH EY 220,000& * 5JH * 95% 1,045
O=2AI EY 260,000& * 10 * 95% 247




2N
X ZH -
L= B

el

SHRBMSEES QBSLC R
DTN RY(RHUBB/250Z)
NETHZ 29

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O=2AD EH 500,000 = 1JH = 95% 475
O=EAEX 21,000& » 102fA = 95% 200
02 3524l 265 265 0
O 83yl 265
Ost=2E & 115,000& = 13 115
O3 A& 150,000& * 13 150
206 M = Hl 7,110 7,110 0
01 X2 bl 7,110 7,110 0
OUEARS 1,500& * 2,50004 3,750
OJtee= 80,000& * 10JH 800
odE3aelY 100,000& = 5JH 500
OXZ &l AtCI= 100,000& = 504 500
OLIXNEXza JEEQ 25
20,000& * 3&Z » 12& 720
OEME+E HOZ 150,000& * 28 300
oONsU=sEetd) 3+ X 3,0008 * 80= 240
OMIIESHE 3,000& x 1004 300
301 deEtE X = 8,320 8,320 0
09 #HALAHI X &= 8,320 8,320 0
OEHI2 NHABMI BSa|
20,0003 * 49 = 104 8,320
AT A2 AIEES S X2 71,670 14,231 57,439
101 @121l 54,515 0 54,515
04 JI2ZtH22XNHEE =+ 54,515 0 54,515
OHA =& E4(29%) 54,515
(@)siFals] 74,4003 * 29 * 26 » 12& 46,426
o404 28 = 4,903
-=0lH= 46,426,000& * 4.50% 2,090
-AUYEE= 46,426,000& * 3.23% 1,500
-AIIRYEEZ 1,500,000& * 8.51% 128
-Eg88=s 46,426,000& * 1.5% 697
-MHEEE 46,426,000& * 1.05% 488
Og &SIyl 200,000 * 2H * 23| 800
O I &t 74,400& * 2% x 12 1,786
O=XNEIAE 300,000& * 24 600
201 Yer2 | 8,090 7,966 124
01 AFR2 2t 2l Yl 7,376 2,400 4,976
ORI HHIAIAE S22
200,000& = 128 * 95% 2,280
O - 24J] X2
33,000& = 4CH = 128 * 95% 1,505




SN CARBYSSESY QESLTND
HM: BEANS 2 (2L 2Z /250 =)
el AYEHE 29 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O2JI&8dI| RA2el
45,000& = 70H = 128 * 95% 3,591
02 3524l 714 5,566 N4 ,852
OFSXE A 14,0008 * 51& 714
206 M = Hl 9,065 6,265 2,800
01 =l 9,065 6,265 2,800
Ost&a & HAESE 5,000,000& 5,000
od -2 SEY 16,5008 * 102t A 165
OFMEE(SlEQ 55) 50,0008 *» 65 * 43| 1,200
OAI2& It A 20,000& * 109H 200
OEMNMELAFE AICI= 2,500
OAN&E Moz 100,000& = 5& 500
Os X =2t 2,000,000& * 1& 2,000
HIZTAHZ 29 216,999 176,179 40,820
HAZCHS NS 83,432 119,952 N 36,520
201 et | 10,532 22,752 N 12,220
01 At 22l ] 10,532 22,752 N 12,220
OFIIZUHE 2= 4,538
O XI 15,000& = 17JHAF *» 128 % 95% 2,907
(OPNE=PN! 13,000& * 1T1J0HAF » 128 * 95% 1,631
ootz x =l 1,110& = 5,400 5,994
206 M = Hl 5,400 7,200 A 1,800
01 & bl 5,400 7,200 A 1,800
OZEANAEZIE HIB 5,400
ORFID TAG 500& = 5,400H 2,700
Octd Sk 2 95 500& * 5,4000H 2,700
405 KHo&HFE S HI 67,500 90,000 N 22,500
02 T A7 67,500 90,000 N 22,500
O=EANTL 12,500& * 5,400 67,500
HACND SHT20Y 29 43,940 29,210 14,730
201 Bt A H| 30,940 27,610 3,330
01 At 22l b 3,040 3,200 A 160
oOsSML2Z2H M 2,000& * 8005 * 95% 1,520
OZ M2 OtLY 2l E3 2,000& * 8008 * 95% 1,520
03 A2 H H| 27,900 24,410 3,490
OENZ 2IEZ2NH 29 24,460
O A=
35,000& x 2A12F = 1200 8F * 243] 20,160
OSY LA (22T 500,000 = 63| 3,000
O8 =9 H& 70,000 * 10H 700




SH CHBEMESER QHSLCTAB
Hi: ZZCANY 2E(2L22/2sH0 =)
Sl HRCAHB 2Y A:Ee)
SN FHE - B(SA) - MEAY - BHES il 2
OZz¥d2d AZFH| 300,000& = 23| 600
o=AMs0tel 54 840
O=sdEsY 35,000 * 2A12 = 123] 840
O A& =2t AL 800,000& * 13| 800
O=sAHaAY A 800,000& = 13l 800
Ox=E=SMNES3H 500,000& * 23| 1,000
301 LENF 1,600 1,600 0
09 #ALAHIXIE S 1,600 1,600 0
O=3Z208 NIASAMX =4I
8,000& = 10 » 20¢ 1,600
405 THobH S| 11,400 0 11,400
01 AL EFH S 11,400 0 11,400
OHIOIZ (HI0IE) 290,000& = 204 5,800
O (=2 2) 140,000& * 404 5,600
HACAZ NH=sgEgs 24 16,463 16,415 48
201 Yot 2 Y| 2,203 2,305 A102
01 At 22l 8l 1,938 2,040 A 102
oZeH EY 220,000& * 5J0 = 95% 1,045
O=A2Il EYH 260,000& * 2J0 = 95% 494
O ALE X 21,0003 * 208fA * 95% 399
02 8323l 265 265 0
O& 3l 265
Ost=2 M2 115,000& 115
O3z 150,000& 150
206 T 2 bl 9,500 8,950 550
01 =8l 9,500 8,950 550
oOU=E3dS 5,950
O&3te 1,500& * 3,000 4,500
OJteel= 80,000& = 1504 1,200
OslE=aeld 10,000 * 250H 250
OEAME+=Z8 HOIZ 150,000& * 32 450
OMItE=SUHE 3,000& » 100K 300
oOXsSUHEEYEI g+5 X
3,000& » 1008 300
(OF R (Eo=p=] 15,000& * 300H 450
OA=2E JIgA 20,000 * 1504 300
oUXgizd 2I XM 650
Odl EA 35,0002 = 104 350
O2IEE 15,000 * 100H 150
oA 15,0002 * 104 150
OX=Z 4 At = 100,000 = 504 500




SN CARBYSSESY QESLTND
Hi: ZZCANY 2E(2L22/2sH0 =)
el HACAHB 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O&ANS 0= 20,000& = 104 200
OM2E(HEUEE) 40,0003 = 1074 400
301 LEM = 4,160 4,160 0
09 SAAHIXES 4,160 4,160 0
O MAEel XJASAX Al
20,0003 = 28 = 104 4,160
405 XtatE SHI 600 1,000 A 400
01 AR ESFH S 600 1,000 A 400
olzd 2EH R¢ 600
OC=Ed™ 300,000& = 204 600
FIATHNZ AIEER A2 73,164 10,602 62,562
101 @14l 54,515 0 54,515
4 JI2ZtHZ22 a2+ 54,515 0 54,515
OFA EEA E4(29) 54,515
ool 74,400 * 2H » 269 123 46,426
C42Eg= 4,903
=03 46,426,000 * 4.5% 2,090
-HAEEE 46,426,000& = 3.23% 1,500
-}l RLSBEE 1,500,000& * 8.51% 128
-IESEE 46,426,000& = 1.5% 697
M EE R 46,426,000& = 1.05% 488
OZEFOtHI 200,000 » 2¥ « 23] 800
OA XL &I 74,4003 * 28 » 12¢ 1,786
O=XNEQAE 300,000& = 29H 600
201 Yyt 2 Y| 10,884 5,472 5,412
01 At 221l 10,044 3,000 7,044
ORAHIAAE RX2elbl
250,000& = 128 » 95% 2,850
O3J1&8 &I sX &l
45,0003 = 11CH = 128 = 95% 5,643
Od - 2=I FA=e
34,000& = 400 = 128 * 95% 1,551
02 2324l 840 2,472 21,632
O&dstx HE&A 14,0002 *» 60E 840
206 T2 HI 7,765 5,130 2,635
01 =8l 7,765 5,130 2,635
OXMLARE(BIER 28)
50,0003 * 35 = 42| 600
Oz & HAES 6,500,000& 6,500
od . - =2=J 854 16,5003 » 102 A 165
OEAMZAR AMOIS 500,000& 500




SN CHBBYSSER QHSLTAB
o ZBEND 2Y(SALBE/250E)
QBN 2Y cHel E )

SN HH-S(BN) - MBAY - B il HlnE2
QAN 2Y 169,825 145,456 24,369
QEENS =SS 59,030 91,756 N32,726
201 Let24d] 7,730 16, 156 A 8,426
01 At 22/l 7,730 16, 156 A8,426
oFJItdE 2= 3,512
OosdX 15,0002 * 11IHAL = 128 = 95% 1,881
OXI&X 13,0002 * 11JHAF = 128 = 95% 1,631
©0ta *=Hl 1,110& » 3,800 4,218
206 M= Hl 3,800 5,600 A 1,800
01 MHZ 4l 3,800 5,600 21,800
OENELUES 3,800
ORFID TAG 500& = 3,8004 1,900
OcteEsEX2 98 500& = 3,8000H 1,900
405 THobH S| 47,500 70,000 222,500
02 =M=l 47,500 70,000 A 22,500
O&AM 12,500& * 3,800& 47,500
QLETAE EEZ Y 2 27,720 26,430 1,290
201 LB-2EH| 26,920 25,630 1,290
01 At 2t 2l 2,660 2,800 A 140
O0IEX EE2 2,000& = 1,000% * 95% 1,900
O M= oty 2[E 760
03 A2 Z Hl 24,260 22,830 1,430
OsSA2stZEzd 22 20,660
OL A=<
35,000 = 2A12F = 12008t * 243] 20,160
O 60,0002 * 5JH 300
OEZINY 2IAEE 200,000& = 13l 200
O A2 =2t AL 800,000& = 13l 800
O=SHM2ALE HA 800,000& = 13l 800
O0ts32 =& 39 500,000& = 43| 2,000
301 LENF 800 800 0
09 HALAHIX A S 800 800 0
O=3Z208 NIASAMX =4I
8,000& = 10 = 103l 800
QECHNE N 2F 15,327 16,605 AN1,278
201 2et2 Y| 1,757 1,835 AT8
01 At 22l 1,492 1,570 AT8
OZgH ElH 220,000& * 5J0 = 95% 1,045
O=AIl EYH 260,000& = 1JH = 95% 247
(CE=VNE=PN| 21,0003 = 1022 * 95% 200




SN CARBYSSESY QESLTND
HM: BEANS 2 (2L 2Z /250 =)
Sel: QFENY 2Y (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 3524l 265 265 0
O 83yl 265
Ost=2E & 115,000& * 13 115
O3 A& 150,000& * 13 150
206 M = Hl 5,250 4,950 300
01 M= bl 5,250 4,950 300
OENUEIAS 2,200
osate 1,500& = 800M 1,200
oggzZey 2l 80,000& * 10H 800
ogzTZey 3acy 10,000& * 2094 200
OCIXIEXZA 2= 25 55,000& * 104 550
ouEZMEE 10,000 * 204 200
OEMES+E HOIZ 100,000& * 58 500
OXNsSUHERIE) 945 21
3,000& x 1002 300
OHIED(MEUEE) 50,0008 * 200H 1,000
O&FII2UHZESAEIA 1,000& = 5004 500
301 deEtE X = 8,320 8,320 0
09 #HALAHI X &= 8,320 8,320 0
OTHI2 MM BSab|
0,000& = 4% * 104 8,320
QETAZ AIES S X2t 67,748 10,665 57,083
101 @121l 54,515 0 54,515
04 JI2ZtH22XNHEE =+ 54,515 0 54,515
OHA =& E4(29%) 54,515
(@)siFals] 74,4003 * 26 * 128 x 24 46,426
O4UiEe = 4,903
-=0lH= 46,426,000& * 4.5% 2,090
-AUYEE= 46,426,000& * 3.23% 1,500
-AIIRYEEZ 1,500,000& * 8.51% 128
-Eg88=s 46,426,000& * 1.5% 697
-MHEEE 46,426,000& * 1.05% 488
Og &SIyl 200,000 * 2H * 23| 800
O I &t 74,4003 x 122 * 29 1,786
O=XNEIAE 300,000& * 24 600
201 Yer2 | 7,068 5,700 1,368
01 AFR2 2t 2l Yl 7,068 3,000 4,068
ORI HHIAIAE S22
250,000& = 128 * 95% 2,850
O&d=2J| s &bl
25,0003 = 4CH = 128 * 95% 1,140




SN CARBYSSESY QESLTND
HM: BEANS 2 (2L 2Z /250 =)
Sel QBEMT 29 EEREED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
O2J&8dJ] A2l
45,000& » 6CH = 128 * 95% 3,078
206 M = Hl 6,165 4,965 1,200
01 & bl 6,165 4,965 1,200
OsIda L HAEE(4S) 5,000,000& 5,000
42 S5 16,5003 * 102+ A 165
oFAMZBSE(EZE 2) 50,000& * 8& 400
OHMARE(BIES 35F)
50,000& * 4& * 23] 400
OAIE2EI|eA 20,000& * 104 200
LN 22Y 339,209 626,027 N 286,818
SYLEA2 NS 171,783 520,340 A\ 348,557
201 LEt2AY| 20,583 47,840 N2T7,257
01 A2 22l 20,583 47,840 27,257
oOFJILtHEE =2 4,047
O=< X 15,000& = 15J0HAF » 128 * 95% 2,565
ORI K] 13,000& * 100HAF » 128 * 95% 1,482
OVOOMHIA AIEE 360,000& = 128 * 95% 4,104
ootza =l 1,110& = 11,200 12,432
206 M = Hl 11,200 35,000 N 23,800
01 M= bl 11,200 35,000 A 23,800
OENE2ES 11,200
ORFID TAG 500 = 11,200 5,600
Octd sk 95 500& « 11,200 5,600
405 X+H&HF SHI 140,000 437,500 A 297,500
02 & A Fbl 140,000 437,500 N 297,500
oM 12,500& * 11,200& 140,000
YA ST )AHSY 37,750 14,380 23,370
201 et A | 36,550 13,980 22,570
01 AFR22t2l Yl 3,800 0 3,800
oOsNM=2E 2,000& * 1,000 * 95% 1,900
OENZIEEE 2,000& * 1,000 * 95% 1,900
03 AL H I 32,750 13,980 18,770
OSAHMRIEZNH 2 22,160
O2Z A=
35,000& * 2A12F = 1204 Bt x 243 20,160
OEZNH2H 2= 300,000& * 23] 600
@)=E=4 70,000& = 204 1,400
Os=223dH4xd d)|Is84H 500,000& * 123 6,000
O A 22t SHA} 1,000,000& = 13 1,000




SN CARBYSSESY QESLTND
HM: BEANS 2 (2L 2Z /250 =)
el 2YEHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OSAHY &AL 1,000,000& = 13 1,000
OsMsS0el 4 1,590
O=YHE =&
35,0003 * 2A12F = 2J4BL x 63] 840
OEESES &N ¢ 12,500& * 12& x 58 750
OO0 sSA=sEY 1,000,000& = 13] 1,000
301 LBHE A 1,200 400 800
09 SHALAHIXI &= 1,200 400 800
O XS AX SAH| 8,000& * 10¥ * 153 1,200
SUCHE NE2ITN 29 36,300 78,370 £ 42,070
201 et A | 3,575 2,365 1,210
01 AF2 2t 2l Yl 2,765 2,365 400
oZeglH EY 220,000& * 8JH * 95% 1,672
O=AJ EY 260,000 * 20 * 95% 494
o=sAMEX 21,000 = 302fA % 95% 599
02 33294l 810 0 810
O g3l 810
Ost=2= M2 (3dl) 150, 000& 150
Ost=2= A& (83aldl) 360,000& 360
O22 M2 (83ldl) 300,000& 300
206 T 2 bl 11,925 11,150 775
01 X &2 bl 11,925 11,150 775
CIE RS 6,600
osEate 1,500& = 2,0004 3,000
ogzTZell el 80,000& =* 404 3,200
odle3accy 10,000& * 404 400
O=HE 3,000& = 1004 300
OENEs+E HOolZ 150,000& * 58 750
ONsUsetd)] +=ZEX 3,0008 + 3002 900
oO¢uEZMEE 10,000& * 304 300
ocxXgxza 2AXM 975
(@)= 35,000& * 1504 525
(OFI== 15,0002 * 1504 225
oA 15,000& = 150H 225
OAIE2E 2|2t A 20,000& * 1504 300
OX= &l Aol = 100,000& * 10JH 1,000
O e 40,000& = 2004 800
301 Bt ™M= 20,800 12,480 8,320
09 HALAHIXI &= 20,800 0 20,800
OFLEMAEL XJASALA 2s4H|
20,000& » 104 = 104 20,800




Rt

27,444

SN CARBYSSESY QESLTND
Hi: ZZCANY 2E(2L22/2sH0 =)
el 2YEHE 29 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
LEME AIEd=S X2 93,376 12,937 80,439
101 @14 Hl 75,687 0 75,687
04 JIZHHZ2XNEE S 75,687 0 75,687
O&FA JIZtH 2= 75,687
ool 68,720% * 3H » 269 * 123 64,322
C4E2E = 6,791
-2z 64,322,000& * 4.5% 2,895
-HLYEER 64,322,000& * 3.23% 2,078
-“AJeeEE e 2,078,000& = 8.51% 177
-NEEEa 64,322,000& * 1.5% 965
M EE=E 64,322,000& * 1.05% 676
OFEFItHI 200,000& = 3H =« 23| 1,200
O¢ Xt E 4| 68,720& = 3% = 12¢& 2,474
O=XNEQE 300,000& = 3H 900
201 Let24d] 9,041 5,072 3,969
01 At 22l 9,041 3,600 5,441
OF=+Jl |FX &l
37,0003 = 4CH = 128 = 95% 1,688
O3J1&830 |RX2eltl
45,0003 = 7CH = 128 = 95% 3,591
ORI AHIAAE RX2elbl
330,000& = 12& = 95% 3,762
206 = Hl 8,648 7,865 783
01 MHZ 4l 8,648 7,865 783
OB ZA UL HALBE(4S) 6,500,000 6,500
Wesd 25 16,5008 * 158 A 248
OFAMBRIBE 50,0008 * 305 1,500
O R2IEE (5 2235)
50,000& = 48 « 23| 400
SHIH(EM2EMSSER QESSTTAR) 1,573,778 0 1,573,778
= 192,108
< 96,054
Al 1,285,616
ol 29| 1,049,704 0 1,049,704
= 192,108
< 96,054
Al 761,542
BSss=E N H2AIZ AE2SE 160,815 0 160,815
= 54,888
=3 27,444
Al 78,483
101 @124l 160,815 0 160,815
54,888




2N
X ZH -
L= B

el

~

SHRBMSEES QBSLC R
HHSHBY (CAHBTHYSAS2R QHS2T AT
ol 2yl

SN HH-S(BN) - MBAY - B il HlnE2

Al 78,483

03 RIAHAZZ2TE = 160,815 160,815
OSSN HEAZAZT S2X 02 145,617
OJles 2,216,090& » 4% » 128 106,373
= 54,888
< 27,444
Al 24,041
oz2s=¢ 110,795& * 494 » 12& 5,319
(OFS = Eag=4 50,0003 = 4H » 123 2,400
OZEFOtHI 1,108,040& *» 4% * 23| 8,865
Ooxzuze=¢ 154,600& * 4H » 123 7,421
O=&l 130,000& * 49 « 6,240
OAIIE &l 82,4803 * 49H « 6,599
ONs=g 2,400
—bH < Xt 40,000& * 3Y = 1,440
IE 80,000& * 19 =« 960
Q401 E8z JlH#2EZ 15,198
O30z 143,968,000& = 4.5% 6,479
CHLZBEE 143,968,000& * 3.23% 4,651
OFIAEER 4,651,000& = 8.51% 396
Cng:28s 143,968,000& * 1.5% 2,160
OtHEE = 143,968,000& * 1.05% 1,512

SN2 HZAIZE HE2Y 162,917 162,917
= 54,888
< 27,444
Al 80,585

101 @124 dl 162,917 162,917
= 54,888
< 27,444
Al 80,585

03 RIAHAZ 2 E =+ 162,917 162,917
ONEET M2 HZAIZAZT ZRA o12AH| 147,522
oJlza 2,271,5902 * 4% * 128 109,037
= 54,888
[ 27,444
Al 26,705
o254 113,570& = 4H » 12& 5,452
(OFSF=Eat=4 50,0003 = 48 = 123 2,400
OFE=FItHI 1,135,790& = 4% « 23| 9,087
Oxzzfa¢ 158,200& * 4% » 12& 7,594
O= &l 130,000& * 4H » 123 6,240
O¢ItE &I 84,4003 * 498 = 20 6,752
ONEs=g 960
-JIEIEE 20,0003 = 498 » 12& 960




A EANZEHNMSESE2E QEASHET A2
MY BHSUAH (CAHBTMSE2S QESLTAD)
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O40f B2 J|a82e=2 15,395
O=281d3 145,834,000 * 4.5% 6,563
OHLdEE= 145,834,000 = 3.23% 4,711
O&ILEE S 4,711,000& * 8.51% 401
onggEss 145,834,000 * 1.5% 2,188
ONEsg S 145,834 ,000& * 1.05% 1,532
HRAT N2 A2 HE2H 161,381 161,381
= 54,888
= 27,444
Al 79,049
101 21 214| 161,381 161,381
= 54,888
o=} 27,444
Al 79,049
03 2IHAZ2ZXNHE = 161,381 161,381
OFHIIT N2 JHEAIZTAEY 22 A ol AHYH| 146,130
[OPIR==] 2,262,340 * 4% « 12€ 108,593
= 54,888
= 07,444
Al 26,261
o225 112,645% x 4% » 12€ 5,407
O&AxE 50,000 = 4% = 12& 2,400
OY & 5| 1,126,5408 * 4% * 23| 9,013
Ozxz22244 157,0008 * 4% « 128 7,536
O3 &l 130,000 * 49 = 128 6,240
O A I Al 83,760& x 4% x 20¢ 6,701
OEx=E 240
-JIEISE 20,000& * 1 = 128 240
O40f B8 2 J|a2E=2 15,251
Oo=281Hd=2 144,456,000 * 4.5% 6,501
OHeEE= 144,456,000 * 3.23% 4,666
O&IYEE = 4,699,000 * 8.51% 400
onEgss 144,456,000 * 1.5% 2,167
ONtEsg = 144 ,456,000& = 1.05% 1,517
QELTAZ A AHSA 78,733 78,733
2 27,444
o 13,722
Al 37,567
101 Q121 4| 78,733 78,733
= 27,444
o 13,722
Al 37,567
03 RIHEZZXHE = 78,733 78,733
OLLET A H2AIZAXT ZL2X ol2AHY| 71,292




2N
X ZH -
L= B

el

CHRBMESES
HHEEHY (A
ol2) 2 oyl

]

REELTNT
HYSEES QEBATAY)

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

OPIR== 2,197 ,590& » 2% » 128 52,743
= 27444
< 13,722
Al 11,577
(OF==—F =4 109,870& * 2% * 123 2,637
O&d=+< 50,000& = 298 = 12& 1,200
OFEFItHI 1,098,790& = 2% * 23| 4,396
Ooxzuze=4 153,400& * 29 » 12& 3,682
O= gl 130,000& = 2% * 12& 3,120
OAIE &I 81,8403 = 28 » 20 3,274
OFEs=E 240
-JIEIHE 20,0003 = 1H » 123 240
o428z JIARE3 7,441
O30z 70,474 ,000& = 4.5% 3,172
OCHILBEE 70,474,000& * 3.23% 2,277
OWIAEER 2,277,000& * 8.51% 194
CnE:28s 70,474,000& * 1.5% 1,058
OtHEE = 70,474,000& * 1.05% 740

ol bl 485,858 485,858

101 1A bl 485,858 485,858

03 RIHAZ 22+ 485,858 485,858
OLESHE A HAZRE oAU (L) 80,712
OoJles 2,160,590& » 2% » 12& 51,855
o254 108,020& * 2% * 123 2,593
O&d=+< 50,000& = 29 = 12& 1,200
OFEFItHI 1,080,290& * 2% * 23| 4,322
Ooxzuze=4 151,000& = 2% = 12& 3,624
O= &l 130,000& * 2% * 12& 3,120
OAHIE &I 80,5603 * 28 » 20 3,223
Oonsxe 40,0003 * 2% » 12& 960
O30z 70,091,000& * 4.5% 3,155
CHLABEE 70,091,000& * 3.23% 2,264
OFIAEER 2,264,000& * 8.51% 193
CnEg:28s 70,091,000& * 1.5% 1,052
OtHEE = 70,091,000& * 1.05% 736
@S ESE= 2,415,000& » 1H 2,415
OLESHEAME NEd BF2F AAHI(LS) 121,605
OJles 2,197 ,590& » 128 » 3% 79,114
o254 109,870& = 3H = 123 3,956
(OFSg=Eag=y 50,000& = 3¥ » 12& 1,800
OF &S 0tHl 1,098,790& * 3H * 23] 6,593
Oozxuze=4 153,400& = 3H » 12& 5,523




2N
X ZH -
L= B

el

ro 02
0¥ x
Ho RO 1

02 02 08

MEEEE QHBAT A
AU (EHBTYSES2S QESLTN D)
bl

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=&l 130,000& » 3Y¥  12& 4,680
OAHIE &HH| 81,8403 = 3H » 20 4,911
OJts< (B X) 40,0008 * 3Y » 128 1,440
ONs=g(XH) 80,000& = 1H » 123 960
Y ELTEI-E PN

283,200 * 18 = 42| 1,133

O=8d¢3 108,880,000& * 4.5% 4,900
OAH2d=E2E = 108,880,000& * 3.23% 3,517
OFJIRAEE= 3,517,000& * 8.51% 300
OCLnEEE= 108,880,000& * 1.5% 1,634
OdHEE = 108,880,000& * 1.05% 1,144
oMY NE I2d SR Ex(02) 80,061
OoJlzs 2,197 ,590& » 2% » 12&8 52,743
oz2s=+g 109,870& * 29 » 12& 2,637
O¥d=< 50,000& = 28 » 123 1,200
OZFEFItHI 1,098,790 * 2 * 23| 4,396
OxZH2Zf+E 153,400& * 28 = 123 3,682
O= &l 130,000& = 2H » 12& 3,120
OAIIE &l 81,840 = 2% x 20 3,274
ON=2<(H<X) 40,0008 * 1¥ « 128 480
Ons=g(XH) 80,000 = 1% = 12& 960
O30z 71,674,000& = 4.5% 3,226
OHLEE= 71,674,000& * 3.23% 2,316
OJIRYEE= 2,316,000& * 8.51% 198
Ons8Egs 71,674,000& * 1.5% 1,076
OtHEE S 71,674,000& * 1.05% 753
OFHAT AN NH24 328 B(U2) 121,668
OoJlzs 2,234,590 = 3H » 128 80,446
24 11,7203 = 3H » 123 4,022
(OFSF=Eat=4 50,0003 = 3H » 123 1,800
OFEFItHI 1,117,290 » 3% * 23] 6,704
= &l 130,000& » 3Y¥  12&8 4,680
Ooxuze=¢ 155,800& * 3H » 123 5,609
OHAHILE &l 83,120& = 3% = 20¢ 4,988
ON=2<(HH<X) 40,0008 * 2% = 128 960
OnsE=g (M) 80,000& = 1% = 12& 960
O=8d= 108,922,000& * 4.5% 4,902
OCHZ=2BE = 108,922,000& * 3.23% 3,519
OINLAYEEE 3,519,000& * 8.51% 300
CnE:2gz 108,922,000& * 1.5% 1,634
OdMMEE = 108,922,000& * 1.05% 1,144
ORQET NI N4 B2 E(UI) 81,812




2N
X ZH -
L= B

el

CHEBMSEZE QBSLT A
HHSHBY (CHBTYASER QHSLTHT)
ol 2yl

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OPIR== 2,290,090& » 2% » 12& 54,963
OF=E=F = 114,490& = 2H » 123 2,748
O&d=+g 50,000& = 29 = 12& 1,200
OFE =S tHl 1,145,040 » 2% * 23] 4,581
Oxzz2f=¢ 159,400& » 29 = 128 3,826
o=t 130,000& = 28 = 123 3,120
OHIE &I 85,0403 * 29 » 20 3,402
OEs=E 20,000 = 1% = 12& 240
O=8dgd=z 73,230,000& * 4.5% 3,296
OHLEE= 73,230,000& * 3.23% 2,366
OFIAEER 2,366,000& * 8.51% 202
OnssEg=s 73,230,000& * 1.5% 1,099
OtHEE = 73,230,000& * 1.05% 769
|23 bl 524,074 524,074
Jl2ztl 524,074 524,074
201 Let24d] 495,106 495,106
01 At 22l 26,848 26,848
OJlegesdasZ
500,000& * 204 = 95% 9,500
ozgd(JIE34l)
8,000& » 20 = 8 » 12& » 95% 14,592
CEEEREEE
120,000 * 10Y = 23] * 95% 2,280
ogens 476
OZ&3J1& &3l WS
20,0003 = 5H » 95% 95
Os2J| gt et w=H|
30,0003 = 5 = 95% 143
Ooagordzte| Xt &3l
50,000& = 5% = 95% 238
02 =224l 468,258 468,258
OEAINARB 950& = 7,000m = 123 79,800
oORERS 1,425
OBt 350& * 1,000 350
OsJl 2,150& » 500 1,075
oOXIRS 273,906
OJlee3a 6,3703 * 5JHA » 230kw » 123 87,906
OoNEERS
100& = 31,000kw » 54 » 12&8 186,000
O4dt+=ER=
1,920 = 900m™ » 128 » 54 103,680
ORdYs=(50M) 32,4503 = 504 « 12& 1,947
OXNsIEE 800,000& * 1CH 800




SN CHEBMSEZE QST A
Y BHLARU(CHREMSSES QBELTAHR)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O XS XHA 100,000& * 1CH 100
(OPNE=FaR=1as] 6,500
OsEXxt 6,500,000& * 1CH 6,500
o=IENLRE 2 100
OXNsSktE 100,000& * 1CH 100
202 04 b] 21,888 0 21,888
01 2LHOHI 21,888 0 21,888
©J| =&l
20,000& = 20 = 8 * 128 * 60% * 95% 21,888
203 ¥R =&AH| 7,080 0 7,080
04 ENSHLRF=XH| 7,080 0 7,080
OJ|=H 7,080
OJI2(30¥ olat) 400,000& = 12& 4,800
O=1H (3121 0l4h) 5,000& = 389 * 12& 2,280




= A
N = 0 & AF & Y A
20208 = 20l A LB H TAZJBMSISE2E AMNETAH2 ~ & HMSIE2s HMs s
SN CHRBMSEZE Q&C AR
B 2BCND 29
SYl QBEMT 2Y (29l & 2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
TNEHMSEEEE Q5 A2 3,055,862 2,404,042 651,820
2 233,274
= 168,377
Al 2,654,211
22T A2 29 1,379,618 1,318,511 61,107
o 51,740
Al 1,327,878
PECAS Y 578,924 552,732 26,192
= 51,740
Al 527,184
PETAS NS ES 151,232 151,472 A 240
201 et 61,052 27,272 33,780
01 AP 2t 2] H| 61,052 27,272 33,780
oOFIILE=E 2= 53,637
O XX 15,000 = 1500 AF = 128 = 95% 2,565
O Xl Xl 13,000& = 100HAF = 128 * 95% 1,482
OF2HA 5,0002 * B0JHAF * 523 * 95% 14,820
O& 2t 11,000& = 25000 AF = 128 * 95% 31,350
O& XA 2 30,000 = 10 » 128 = 95% 3,420
onzax=4| 1,110& = 6,680 7,415
206 T 28 6,680 9,200 2,520
01 X2 8| 6,680 9,200 A 2,520
OEMAEZIESE 6,680
ORFID TAG 500 = 6,6800H 3,340
Ooct¥gsis 103 500 * 6,680H 3,340
405 XHo&HF S HI 83,500 115,000 A 31,500
02 = A 72| 83,500 115,000 A 31,500
O A 12,500€ * 6,680 83,500
CET AN BT 29 59,183 98,830 N 39,647
201 LBt 9H| 51,983 69,630 N 17,647
01 AP 22| d| 6,175 7,000 N 825
O=EAN3 SEHE 20,000& * 2008 * 95% 3,800
O 2,0008 * 7508 * 95% 1,425
OEN& EEZ= 2,000& * 50082 * 95% 950
02 222%4| 1,878 0 1,878
OXNESESSFRAAAE S K 22|H|
156,500 » 12&€ 1,878
03 A2 | 43,930 62,630 A 18,700
O=EAMSstEZz1H2Y 12,920
O ALSE
35,000 * 12JHBF = 2A|2F = 123] 10,080
OZeate M2 70,000& * 124 840




SN CARBMSSEE QST
M BTCHY 29
e LETA2 29 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oz& 33 500,0008 * 43] 2,000
CENIEIRE P 4,110
o=dEsYy
35,0003 * 2A12F = BIHEL x 63 3,360
OEE8 TATY 12,500& * 10& x 63 750
OQCIZ28 HAEIY JHE 20,000,000& * 13] 20,000
O23%It UAe ¢ 500,000& * 43| 2,000
O M&F2- &AL 1,200,000& * 13 1,200
OSsS MY A 1,700,000& = 13l 1,700
OSNABZ 2,000,000& * 13 2,000
203 R =&Y| 2,000 0 2,000
03 Al =X H 2 =X Y| 2,000 0 2,000
OETMN& HRFX 2,000,000 2,000
206 M = Hl 1,200 1,200 0
01 & bl 1,200 1,200 0
OsgEZ=z 0¥ 29 M=Hl 300,000& * 43| 1,200
301 et X = 4,000 4,000 0
09 HALAHI X &= 4,000 4,000 0
O2sZ=z 18 XAASALA S S|
8,000& * 20 x 25¢ 4,000
LETAZ NZEHA 29 21,440 27,420 A5,980
201 et A | 3,700 9,780 A 6,080
01 AFR22t2ldl 3,040 9,000 A5,960
OEMZ 0132t 2IEH
2,000& * 1,000 * 95% 1,900
O&= T AH2U3 =ty
100,000& * 10¥ *» 13 » 95% 950
OXz 23 MAY
100,000& * 1 * 23| * 95% 190
02 3524l 660 780 N 120
Ogo3erdgd=a 660
Ost=2E & 360,000& * 13 360
OB A 300,000& * 13 300
206 M = Hl 13,580 13,480 100
01 M= bl 13,580 13,480 100
OUHEIS 5,800
ousote 1,500& = 3,0004 4,500
O2teel & 80,000& = 155 1,200
Odle3acely 10,000& * 102 100
OANItESHE 3,000& = 1004 300
OEN B8 H 150,000& * 28 300
ORFID TAG 23 500& = 1,000H 500




SH CHBEMSSEE QBTN
M BTCHY 29
el 2STHE 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oOnSUHEEEI 925 EX
3,000& » 1002 300
OAM2E A 20,000 * 204 400
OXZ &l AFCTAIAE 100,000& * 4004 4,000
OXz 4 PC 2% XM 580
Odl et 35,0002 * 8K 280
OII2E 15,000& * 1074 150
Obt*A 15,0002 * 104 150
OZ M BHUCH 100,000 * 67K 600
O XL 40,0003 * 204 800
301 LeEAF 4,160 4,160 0
09 AL HIXIA 3 4,160 4,160 0
O MZEel XNEASAA 234t
20,000 = 2% = 104 4,160
OrJIet &M ot MAMY 28 258,720 260,000 21,280
< 51,740
Al 206,980
201 Let2d] 82,840 47,120 35,720
< 16,564
Al 66,276
01 At 22l 36,500 0 36,500
OdANEE 35,000
Os&E2 MH 2,000& = 7,0000H4 14,000
< 2,800
Al 11,200
Olild=Ee 3,500,000& * 470 At 14,000
< 4,000
Al 10,000
O™ 6,000,000& = 13l 6,000
ogsizd 10,000& * 1008 1,000
< 200
Al 800
(OFSPNE= 1,500
O=AMEERAZ 2 JA=E 100,0008 * 5& 500
< 100
Al 400
OMZHEE 2 &A= 100,000& = 10¥ 1,000
< 200
Al 800
03 &AL2 I 46,340 47,120 A780
oOXZegsIH =4 2,680
OXNJA&sIt s 70,0003 = 243| 1,680
< 332
Al 1,348




SN CARBMSSEE QST
M N2 23
el QAT AP 29 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SREESIEECIENIEE
500,000 * 23| 1,000
< 200
Al 800
ounu=sZ=zy 299 28,660
ORR2u= 70,000& = 5J4EH = 103l 3,500
= 700
Al 2,800
OM =0l 70,0003 = 138+ » 243| 21,840
< 4,368
Al 17,472
OZs=s0t=s0tel E& 70,0002 * 203 1,400
< 280
Al 1,120
OM=0l T2 2% HaH
50,000& = 13JHEr * 23] 1,300
= 260
Al 1,040
O32ss0ts0tel 29 MWzt 620,000& 620
= 124
Al 496
Os=H= 5,000,000& = 14 5,000
< 1,000
Al 4,000
OOFJI 2 AL SH0FE JHE 10,000,000 * 13l 10,000
< 2,000
Al 8,000
206 M= Hl 158,400 198,000 A 39,600
< 31,680
Al 126,720
01 MHZ 4l 158,400 198,000 A 39,600
ox#MPHOl + 158,400
O&AM 9,700& = 23 = 6,00004 116,400
< 23,280
Al 93,120
Ot 7,000& = 6,0000H 42,000
< 8,400
Al 33,600
301 getEd 3 17,480 14,880 2,600
< 3,496
Al 13,984
09 SALAHIX A S 14,880 14,880 0
OHAL 28 XJASAX S&HI
8,000& = 309 = 123l 2,880
< 576
Al 2,304
ONAESIH AHl XA
20,0003 * 25 x 243| 12,000
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SHBBYSSER 2
/N 29
QT HE 2d

0F
H
>
el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
T 2,400
Al 9,600
12 0|62 & 2 2,600 0 2,600
OMYYEBR AlY 2,600,000 2,600
= 520
Al 2,080
LET A AIEESR X2 88,349 15,010 73,339
101 @121 52,729 0 52,729
04 JI2ZtH 22 XNEE S 52,729 0 52,729
OFA FEN B 52,729
Ool2it] 74,4008 * 2Y * 262 x 128 46,426
o4HEeg = 4,903
-=0l1H= 46,426,000& * 4.5% 2,090
-HEEEE 46,426,000 * 3.23% 1,500
-} RYBEZ 1,500,000& * 8.51% 128
-IE8E8Ea 46,426,000 * 1.5% 697
MHEE = 46,426,000& * 1.05% 488
OY &SIyl 200,000 * 2% * 23| 800
O=XNEIUE 300,000& * 29 600
201 Bt A H| 12,590 6,140 6,450
01 AP 22l Yl 11,970 5,520 6,450
OR01AH AIAE 300,000& = 128 * 95% 3,420
oY - 2xJ A2l
40,000 * 4CH = 128 * 95% 1,824
O3JI&83d8)] |A=cldl
45,000 * 10CH = 128 * 95% 5,130
OMA=I| =2t 300,000& = 13 * 95% 285
O N=H| 1,311
OZ220| 2 Aetord™ 2te| Xt
200,000 * 6YH = 95% 1,140
Os&Dl ot™ 22| Xt 30,000& * 6Y * 95% 171
02 35244l 620 620 0
Oxgtord™ 22| & 3l bl 50,000& * 6YH 300
o283 HA 8,000 = 40m 320
206 TH 2 HI 8,030 5,870 2,160
01 M= bl 8,030 5,870 2,160
OFANA2IES 50,000& * 5& * 23] 500
Ost&Ea ¥ HAESE 100,0008 » 65 + 128 7,200
oOd -2 SEH 16,5008 * 202k A 330
405 XHakF S| 15,000 3,000 12,000
01 A&t = S F SHI 15,000 3,000 12,000
og2st&lI(EEX24) 15,000,0008 ~ 104 15,000




SH CHBEMSSEE QBTN
M BDCHY 29
el HESHERY (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
NEEA22E 225,078 202,141 22,937
HRACAZ HEES 89,127 119,292 £30, 165
201 B2 S 10,827 22,092 211,265
01 At 22l bl 10,827 22,092 A11,265
oxJIZd= 5 4,389
(O3 ON 15,0003 » 1790 At = 12 = 95% 2,907
OXgXR 13,0008 = 1000 At = 123 * 95% 1,482
O 0t3a =l 1,110& = 5,8004 6,438
206 =8l 5,800 7,200 A 1,400
01 M= Hl 5,800 7,200 A 1,400
O=NEH2ES 5,800
ORFID TAG 500& * 5,80004 2,900
Octe#EX 2 98 500& = 5,80094 2,900
405 THatFH S 72,500 90,000 217,500
02 =M=l 72,500 90,000 217,500
O%A 12,5008 * 5,800 72,500
HEENE 28T208 29 37,840 46,110 ~8,270
201 fEt2E | 36,240 41,010 AN4,770
01 At 22l bl 2,850 3,000 A 150
O=sSN=ZBE 2,000& = 1,000% * 95% 1,900
O=N&t EES 2,000& * 5008 * 95% 950
03 A2 33,390 38,010 N4,620
OSHMEE2IH2HE 23,130
OZ A==
35,0008 = 2Al2t » 2208t = 123 18,480
OEdat: M= 70,000& = 1504 1,050
Oox=3d ¥Jsd 500,000& = 62l 3,000
OLzd 28 =3 300,000& * 23] 600
OsMs0tel 54 4,860
O=stE=E
35,000 * 2AI2H = 4J4Bt » 123 3,360
OEEE TAHA7Y 12,5008 » 10& * 128 1,500
OSgZATH(ABER) 500,000& = 8%l 4,000
OZN2t=2+ A 700,000& * 18] 700
O=K2o & A 700,000& * 13/ 700
301 €EtE N = 1,600 1,600 0
09 HAAHIXES 1,600 1,600 0
O=SAN=2EZZIH NS AMA S
8,000& = 10& * 202 1,600
HNEEND HESZYA 29 23,124 20,588 2,536




SHRBNS SRS QBTN
TTCHB 29
HACAHZ2S 2 &)
SN BA(SA) - MRAY - BES il HImEET
201 ¢er24| 2,004 2,095 A9
01 At 22l 1,739 1,830 A9
OZgH EUY 220,000& = 501 = 95% 1,045
O=AIl EH 260,000& * 2J0 * 95% 494
O=AMEX 21,000& = 10=2HA = 95% 200
02 2324l 265 265 0
oOg2aRg= 265
Ogt= M2t 115,000& * 13l 115
O23sM2 150,000& * 12/ 150
206 = Hl 12,100 7,840 4,260
01 =8l 12,100 7,840 4,260
oU=sEzas 3,950
O&EatE 1,500& = 2,00004 3,000
O3teel2 80,000& * 102 800
OdleE=aely 10,0002 *» 158 150
OMIIE SHE 3,000& * 504 150
OEMd 248 HH 150,000& *» 208 3,000
OXNsUERYI =5 X 3,000& » 802 240
OXZ A ALQIAIAE 100,000& * 204 2,000
oOXz4a PC 2% XM 1,300
Odl EA 35,000 * 2004 700
OIleE 15,000 * 204 300
ObteA 15,0002 * 204 300
O M2 EH| 40,000& = 1504 600
oOZgH EU(REARE) 220,000& = 30K 660
OSNU(XH2AE) 20,0002 = 104 200
301 LA S 8,320 8,320 0
09 HALAHIXI &3 8,320 8,320 0
O NMBEel NEASAX Al
20,0003 * 49 » 104« 8,320
405 TtobFH SHI 700 2,333 A1,633
01 AL EFFH S 700 2,333 A 1,633
OZX(0IEEXE) 700,000& = 14 700
NEZNH2 AIEER A2 74,987 16, 151 58,836
101 @124l 52,729 0 52,729
01 2=+ 52,729 0 52,729
OFA FEHMNES 52,729
ool 74,400 * 2H » 269 * 12 46,426
o4l 2= 4,903
=03 46,426,000& * 4.5% 2,090




SHBEBYSSER QBTHB
2T 2Y
N2 (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
-HYEE = 46,426,000& * 3.23% 1,500
B3I RISBES 1,500,000& * 8.51% 128
-Ng28s 46,426,000& = 1.50% 697
-MHEEE 46,426,000& = 1.05% 488
OZFEFItHI 200,000& = 29¥ « 23] 800
O=XNEQE 300,000& = 29H 600
201 Let24d] 12,563 8,256 4,307
01 At 22l 12,563 8,256 4,307
OR21&Hl AlAH 300,000& = 12& = 95% 3,420
Od - 2=J KA 2l
32,0003 = 6CH = 128 = 95% 2,189
O3JI&8FI| KX el
45,0003 = 13CH = 128 = 95% 6,669
O#MA=I| #=2ldl 300,000& = 18] = 95% 285
206 24 9,695 7,895 1,800
01 MHZ 4l 9,695 7,895 1,800
OEMZEES 50,000& = 88 13l 400
Ostaa & HAESZ 100,0008 » 785 + 128 8,400
od .- 2=J =5 16,5003 » 30 A 495
OA2E JlgtA 20,0002 = 2004 400
CNBSY 268,219 203,482 64,737
SN2 2SS 89,082 118,652 A 29,570
201 L2l 10,782 21,452 210,670
01 AL 22l 10,782 21,452 A 10,670
OFIIUHZ F=2 4,344
OsdX 15,0002 * 1500 Ab = 128 = 95% 2,565
OX X 13,000 = 120HAL = 128 = 95% 1,779
o a+=4l 1,110& * 5,800& 6,438
206 M= Hl 5,800 7,200 21,400
01 =8l 5,800 7,200 A 1,400
OEAMBel 83 5,800
ORFID TAG 500& = 5,800H 2,900
ot 2Xs 108 500& = 5,8000H 2,900
405 XHoHF S HI 72,500 90,000 A 17,500
02 =M=l 72,500 90,000 A17,500
O&AM 12,500& * 5,800& 72,500
ECCNT 23I20Y 29 55,375 39,265 16,110
201 L2l 50,775 34,165 16,610
01 At 22l 2,850 2,800 50
O=AE2E 2,000& = 1,000 = 95% 1,900
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el

0ok OF H
1200 x
e

HUSEER QAT A
NE 2%
NEey

SA BB O () - MM - HES il
oOcNZ EE2 2,000& = 5008 * 95% 950
A2 H I 47,925
oO=sM=2stZz27d 22 22,460

OBM+E
35,0003 = 24JHBt * 2A12t * 123] 20,160
OEdate 70,0002 = 104 700
O=& dJ13¢ 500,000& * 23| 1,000
oxzY 29 23 300,000& = 23| 600
OsAHE02 |4 1,465
OETI-PN="
35,0003 = 2AI2t = 2Bt « 63 840
OEE8 TAF7Y 12,500& = 10& » 53 625
OSEZ AL (UESEZL) 500,000& * 23] 1,000
OZM2Z=2t AL 1,000,000& = 13| 1,000
OSMoAY A 1,000,000& * 13| 1,000
oO=sMB = 1,000,000& = 13| 1,000
OWOIHAHOIA 2 20,000
OBA&E
35,000& = 2AI2t = 1008t * 203 14,000
(OF= = E2p| 2 20,0002 = 1003 2,000
OE2s MZ 2,000& = 1,0000H4 2,000
OEZ20d 2H =3 500,0008 * 28 * 23 2,000
ALUENZ 1,600
HALAHI X &2 1,600
O=3ZZ20Y NJASAMX =S|
8,000& = 10¥ = 203l 1,600
X&HH S 3,000
AL EFSH S 3,000
OLES=S 1,500,000 * 2CH 3,000
ECCND H2ZA 29 27,107
201 £B-2d| 1,757
01 AR 2218l 1,492
oOZglH EYH 220,000& = 500 = 95% 1,045
O=AIl EH 260,000& * 1CH » 95% 247
O=AEXI 21,000 = 10%FA = 95% 200
23224l 265
OF=SlR-IE == 265
Ot M2 115,000& 115
O3 150, 000& 150
M= 8l 14,950
R 14,950




SN CARBMSSEE QST
M ZDCHY 29
SE R EEPEEE EEREED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
RS 5,950
Oo&Eate 1,500& = 3,0004 4,500
Oateel = 80,000& = 150H 1,200
osdleEacdy 10,000 * 2504 250
OAIIE SHE 3,000 = 4004 1,200
OEM B2 HE 150,000& = 102 1,500
OXNsSUHERIED 2= 21
3,000& * 4002 1,200
OA=E J|8A 20,000& * 354 700
O XS Al AFQIAI A& 100,000& * 4004 4,000
O 28| 40,000& = 1004 400
301 et ™M= 10,400 8,320 2,080
09 HAIAHIXI &2 10,400 8,320 2,080
O ANME2 KNIASAL 2S4A|
0,000& = 5 * 104 10,400
SHCNZ NESRIE 96,655 24,570 72,085
101 @1 21| 79,092 0 79,092
04 JIZtHI22EXNSEE 79,092 0 79,092
OFA EEX E 79,092
OolAd| 74,4004 + 39 * 26 » 12& 69,639
o4Eeg = 7,353
-=01H= 69,639,000 * 4.5% 3,134
-HAEE = 69,639,000& * 3.23% 2,250
-AIIRUYEE= 2,250,000& * 8.51% 192
-Eg88s 69,639,000& * 1.5% 1,045
-MHEEE 69,639,000& * 1.05% 732
OY ZE =t 200,000& * 3Y = 23| 1,200
O=2XNEAE 300,000& * 3Y 900
201 LBt Y| 9,633 8,340 1,293
01 A2 2218l 9,633 8,340 1,293
OR01AHl AIAE 250,000& * 128 * 95% 2,850
oY - 240 A2l
30,000& = 404 = 128 * 95% 1,368
OZ2J|FAD| A2l
45 000& * 10CH = 128 * 95% 5,130
OMAZD| =2l 300,000& * 13| * 95% 285
206 T 2 bl 7,930 6,230 1,700
01 & bl 7,930 6,230 1,700
OFANH2IES 50,000 * 8& x 13| 400
ost&Aa L HAEZFE 100,0008 » 65 ~ 12& 7,200
od -2 SEY 16,5008 * 2082t A 330




SHBEBYSSER QBTHB
2T 2Y
NEEETY

SA - BAEN) - NRAY - LS HRE2
NESCNR2SY 86,169 110,812 124,643
NESCND N2eE 39,731 63,100 £23,369
201 et Y| 4,631 9,100 A 4,469
01 At 22l 4,631 9,100 A 4,469
oINS RSy 1,745
Oz 15,0008 * 4)HAb * 122 * 95% 684
OX g X 13,0008 * 6IHAF = 128 * 95% 890
OOlSAI2 50008 * 3)HAH » 128 * 95% 171
CHEEET] 1,11020 * 2,600 2,886
206 TH 2t 2,600 4,000 A1,400
01 ME bl 2,600 4,000 A 1,400
CEVE-EIE=3=1 2,600
ORFID TAG 5002 * 2,600 1,300
Octe X el 95 5002 * 2,6007H 1,300
405 THarE S| 32,500 50,000 A 17,500
02 AR 32,500 50,000 A 17,500
O A 12,5008 * 2,600 32,500
AESCHD 23E20Y 29 21,760 21,660 100
201 et Y| 20,800 20,700 100
01 AbR 22l 760 800 A 40
OSHLAH 2,00080 * 4005 * 95% 760
03 A2 20,040 19,900 140
OSN2HZ2]Y 29 15,260
OL A%
35,0009 * 15JHEF * 2AI2t * 128 12,600
OZeoe M= 70,0002 * 8H 560
Oz% FIIZQ 500,0008 * 33 1,500
OZzIY 29 300,0008 * 23] 600
OSHE0t2 24 780
O=SHESY 35,0002 * 2AI2t * 43| 280
OEE2E TNPY 12,5002 * 8 * 5% 500
OEMBZEZ A 1,000,0002 * 13l 1,000
OSMolY A 1,000,0002! * 13l 1,000
CEVECE:S 2,000,0002! * 13 2,000
301 Lpte M3 960 960 0
09 #ALAHIXI ™2 960 960 0
O23ZTzI NAZAK S
8,0008 * 10g * 123l 960
NESEHD HE2ZEa 14,243 18, 145 £3,902
201 et2 | 1,448 1,510 ~62
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 1,183 1,245 N B2
OZgHEH 220,000 = 40 = 95% 836
O=AMIENH 260,000 * 1JH * 95% 247
O=2AEX 21,000& * 58t A % 95% 100
02 332494l 265 265 0
Ogozegd3 265
Ost== M 115,000& * 13 115
O A& 150,000& = 13 150
206 M = Hl 4,475 4,475 0
01 = bl 4,475 4,475 0
O EEEEES 2,850
ousote 1,500& = 1,0004 1,500
Oateel 2 80,000& * 1504 1,200
Odle3acely 10,000& = 15JH 150
OANIIE SHE 3,000& = 60K 180
OCM Ex=2 HEY 150,000& * 58 750
OXZ Al AFOLAIAEY 100,000& = 504 500
OXza PC 29 XM 195
(@) E=sl 35,000& * 3K 105
o218 15,000& * 34 45
(@] == 15,000& * 34 45
301 dEtE X = 8,320 4,160 4,160
09 HALAHI X3 2 8,320 4,160 4,160
O AME2 KNJSAL 2SS4
0,000& * 4% * 104 8,320
MNESTAHZ AIEESS A 22 10,435 7,907 2,528
201 LEt2 Y| 6,270 5,340 930
01 AFR2t2l bl 6,270 5,340 930
ORol&dHl AAE 250,000& * 128 * 95% 2,850
oY - 247 A2l
25,000& ~ 3CH = 128 * 95% 855
O3JI8&8I| X &2l
45,000& =+ 5CH = 128 * 95% 2,565
206 M= 8l 4,165 2,567 1,598
01 & bl 4,165 2,567 1,598
OFANZA2IES 50,000& * 8& * 13 400
Ost&Ea & FAE2E 100,0008 * 35 * 128 3,600
od -2 SEY 16,5003 * 102+ A 165
BUEHE 29 111,742 138,683 £26,941
ZUHEMZ NS 44,426 71,900 N2T,474




SH CARBMSSER QBT AP
IM: ZIZCHB 2
ool FUSHE 29 CERED
SAH-EB .S (3H) - HEAY - BE2 ﬁlf& HD=2
201 Bt A | 7,706 17,900 AN 10,194
01 AP 2t 2l Yl 7,706 17,900 AN 10,194
OFIIZEHE A== 4,686
O 15,000& * 17JHAF » 128 * 95% 2,907
O X & Xl 13,000& * 129HAF = 128 * 95% 1,779
ootz 7=l 1,110& = 2,720 3,020
206 = bl 2,720 4,000 A 1,280
01 = bl 2,720 4,000 A 1,280
OEANE2ES 2,720
ORFID TAG 500& = 2,7200H 1,360
Ot EX 2 98 500 = 2,7200H 1,360
405 XH&HF SHI 34,000 50,000 A 16,000
02 & A7 bl 34,000 50,000 A 16,000
O M 12,500& * 2,720¢ 34,000
Z2UHEAN2 StE)d 29 27,700 29,050 A 1,350
201 et A | 26,100 27,450 A 1,350
01 AFR2t2l bl 4,750 5,000 N 250
oOsNM=2E 2,500& * 1,000 * 95% 2,375
OZNZ EB= 2,500& * 1,000 * 95% 2,375
03 AL H I 21,350 22,450 A 1,100
OsSMSIEZ IS 24 15,630
OB MEY
35,0002 * 18I0 EE x 2A12F x 123 15,120
OSdate 70,000& = 34 210
Oomz)dH 89 238 300,000& * 13 300
OFBEFAUANSEZ=Zz N H 1,980
OZ A=
35,0003 * 2JHEF x 2A12F * 123] 1,680
OZz )y 29 25 300,000& * 13 300
OsSMNs0te SHESY
35,0002 * 1JHEF = 2A12F * 123] 840
OSg2ZANFH(A2EY) 350,000& = 23| 700
O M2+ AL 600,000& * 13 600
OsSAMAY A 600,000& * 13 600
O=SNB=Z 1,000,000& = 13l 1,000
301 et X = 1,600 1,600 0
09 HALAHIXI &= 1,600 1,600 0
OSANE3 Z2 0 TIHEEAMA SAH|
8,000& * 10¥ * 203 1,600
BUEHD HELYA 29 20,257 22,155 A 1,898
201 Bt A | 1,757 2,335 N578




SH CARBMSSER QBT AP
IM: ZIZCHB 2
ool FUSHE 29 CERED
SN HH-S(BN) - MBAY - B il HlnE2
01 At 22l 1,492 2,070 A578
oZeglH Y 220,000& = 501 = 95% 1,045
O=AIl EH 260,000& * 1J0 = 95% 247
O=SANEX 21,0003 * 102FA * 95% 200
02 =224l 265 265 0
OF=[=lR-IE A== 265
Ot M2 115,000& * 13| 115
O23EM2 150,000 * 13l 150
206 M= Hl 8,100 10,800 22,700
01 =8l 8,100 10,800 22,700
OEAU=RE 3,150
OU&E3te 1,500& = 1,50004 2,250
OJteelz 80,000& = 104 800
Osle3aey 10,000& * 104 100
OMItE=ESHE 3,000 = 30074 900
OEM B3 H Y 150,000& * 28 300
oOXsUHsEEEI 9+ EX
3,000& = 1008 300
OXZ &l AtCTAIAE 100,000& » 207K 2,000
OXz4a PC 2% XM 55,000& * 1004 550
OF=E-3-1 9] 40,000& = 1094 400
oOdEZHEE 10,0002 * 504 500
301 LEXZ 10,400 8,320 2,080
09 HALAHIX &S 10,400 8,320 2,080
OEMERl KMHFSAX 2354
0,000& = 5 = 104 10,400
ZUEAZ AIES2 R X2 19,359 15,578 3,781
201 Yet2 | 8,379 9,480 A1,101
01 At 22l 8,379 8,880 A501
O=RoAHl AIAE 200,000& = 12& = 95% 2,280
od2+I |RA2ecll
30,0003 = 3CH = 12& = 95% 1,026
O3JI&8FI| *RX el
45,000& = 500 = 128 * 95% 2,565
ON&Il |A&clbl
50,000& = 108 = 128 * 95% 570
odldl ¢g ¢ KX 2cldl
30,000 = 400 * 128 * 95% 1,368
oA =D =2/l 300,000& * 23] * 95% 570
206 M= Hl 5,980 6,098 A118
01 =8l 5,980 6,098 A118
O&EMZRES 50,000& = 88 13l 400




SN CHRBMSEZE Q&C AR
M ZRCAB 29
Chelr Z2UHEM2 29 (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
Ostaa & HAEZ 100,0008 * 48 « 128 4,800
od . - 2=J =5FZ 16,5003 » 202 A 330
OA2E A 20,000& * 1004 200
OXLUEBE(SE 2 38) 50,000& = 54 250
401 AIEHIZ 28I 5,000 0 5,000
01 A& Hl 5,000 0 5,000
OEAMZ etlig 2HE 5,000,000& * 14 5,000
S22 109,486 110,661 A1,175
SHTHE REHE 41,919 66,520 ~24,601
201 £B-2dH| 6,819 12,520 25,701
01 At 22l 6,819 12,520 A5,701
OFIIUHEETS 3,933
OF3=ON| 15,000& = 10J0HAF = 1238 = 95% 1,710
OX X 13,000 » 15JHAL = 128 = 95% 2,223
ott=2 =4l 1,110& * 2,600& 2,886
206 M= Hl 2,600 4,000 A 1,400
01 MHZ 4l 2,600 4,000 A 1,400
OZNECES 2,600
ORFID Tag 500& = 2,60004 1,300
Ooctg X2 95 500& = 2,6000H 1,300
405 XHoHF S HI 32,500 50,000 A 17,500
02 =M=l 32,500 50,000 A 17,500
O&M 12,500& * 2,600 32,500
SHEMS BIEZ20Y 29 21,930 26,080 A4,150
201 L2l 20,330 24,480 A4,150
01 A2 2218l 3,800 4,000 200
O=sAEZE 2,000& * 1,000% * 95% 1,900
oM EEE 2,000& = 1,000% * 95% 1,900
03 A2 Z Hl 16,530 20,480 A 3,950
O=M2stEz2d 2g 11,340
OL A=<
35,000 = 13JH Bt = 2A12F * 123] 10,920
OZHItE M= 70,000& = 64 420
OFEFHANSEZZOH 2,890
OL A=<
35,0003 = 3Bt = 2AI2F = 123l 2,520
OZHItE M= 70,000& = 14 70
OZ2Y 23 3 300,000& = 13l 300
OSgZ A= (2SS 350,000& * 23 700
O M2t=2t &AL 800,000& = 13l 800




Jo o8 N

NBBYSSEY QBT
BTN 2Y
NEVELE-

M. o (BH) - HSAY - BAS il HDS2
O=SM2AY A 800,000& * 13 800
301 dEtE X = 1,600 1,600 0
09 #HALAHI X &= 1,600 1,600 0
O=2gZ=z 18 XAJASALA 24|
8,000& * 10¥ * 203 1,600
MAETAHZ N2 29 10,512 10,590 NT8
201 et A | 1,757 1,835 AT8
01 AFR22t2l Yl 1,492 1,570 NT8
oZeglH EY 220,000 = 5JH = 95% 1,045
OZ2AJ] EYH 260,000 * 1JH * 95% 247
O=2AMEX 21,000 = 108fA = 95% 200
02 33249l 265 265 0
@)==lR=R == 265
Ost=2= A 115,000& 115
O A& 150, 000& 150
206 M =8l 4,595 4,595 0
01 & bl 4,595 4,595 0
I EEEEES 1,950
o=t 1,500& * 1,00074 1,500
O2teel = 80,000& * 54 400
odlE=zaec24y 10,000& = 54 50
OANII SHE 3,000& = 2004 600
OEANEs+E HOlZ 150,000& * 22 300
ORFID TAG 42 5002 * 5004 250
OXNsSUHELEI =5 EX 3,000& * 508 150
OAIE2E I|8tA 20,000& * 54 100
OXZ Al AFQIAIAEYS 100,000& * 34 300
OXza PC 29 XXM 325
Odl el 35,000& * 5J4 175
[OFIE== 15,000& * 504 75
OnIA 15,000& = 54 75
O )| 40,0003 = 34 120
ouZMEsE 10,000 * 504 500
301 dEtE2XZ 4,160 4,160 0
09 HALAHIXI &= 4,160 4,160 0
OEMELl XIASALA &S4l
0,000& * 2% * 104 4,160
SMEZAZ AIES S22 35,125 7,471 27,654
101 @121l 26,365 0 26,365
04 JI2ZtH2E2XNEE 26,365 0 26,365




SN CARBMSSEE QST
M BDCHY 29
el SAChBRY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFA EEZ B 26,365
(@RiRal:] 74,4003 * 18 * 262 « 123 23,213
o4 BE8= 2,452
e = 23,213,000& * 4.5% 1,045
-HLYEE= 23,213,000& * 3.23% 750
“HIRISEES 750,000& = 8.51% 64
-Ng2Ee 23,213,000& * 1.5% 349
M EEE 23,213,000& * 1.05% 244
OFEFItHI 200,000& = 1H « 23| 400
O=XNEQUE 300,000& * 1¥ 300
201 YEr2 Y| 4,845 4,080 765
01 At 22l 4,845 4,080 765
OR1&Hl AlAE 200,000 = 12& = 95% 2,280
od - 220 sl
30,0003 = 3CH = 12& = 95% 1,026
O3J18&EI| =X &eld|
45,0003 = 3CH = 128 = 95% 1,539
206 M= Hl 3,915 3,391 524
01 =8l 3,915 3,391 524
OFAZCES 50,000& * 9& = 33 1,350
Ost&a & HFA4EF 100,000 » 2& » 128 2,400
od - -2+J =5Z 16,5002 » 10 A 165
BHL2YAH (CHBBYSSESY QSTH) 1,676,244 1,085,531 590,713
- 233,274
< 116,637
Al 1,326,333
ol 2 gl 1,368,959 771,542 597,417
= 233,274
< 116,637
Al 1,019,048
ol Al 678,902 328,998 349,904
101 @14 dl 678,902 328,998 349,904
03 RIHAZ 2 E =+ 678,902 328,998 349,904
OMAN BSRH B 49,135
oJlesua) 2,819,810& » 1H » 1228 33,838
24 140,990& = 1H » 12& 1,692
O&d=+¥ 50,000& = 1H » 123 600
OZFEFItHI 1,409,900& » 1H « 23| 2,820
Oxzzf=¢ 426,360 * 1% = 128 5,117
O= &l 130,000& = 1€ = 128 1,560
O¢ItE &I 103,360& » 198 = 202 2,068
OP == 120,000& = 1H » 123 1,440




e o2 Hn
904 x

H0 Mo &

Zasse
A2 (EM
o bl

]

08 Ho
0z O
Jor
o x

My

i
o
oF
H
>
s

HH .ol (AH) - NSAY - By il 2

oOnza2Y B2 B 431,181
oJlezs(t2) 318,232
45 2,160,590& » 1H » 12& 25,928
55 = 2,197,590& » 7H » 128 184,598
653 2,234,500& » 3H » 12& 80,446
12 = 2,271,590& » 1H » 1228 27,260
o2sxY 110,500& = 12¥ » 12& 15,912
o< 50,000& * 1294 » 12& 7,200
OFEFItHI 1,105,000& * 12% » 23| 26,520
Oxzzfs¢ 154,200 » 12% » 128 22,205
O= &l 130,000& = 12% » 128 18,720
O¢ItE &I 82,300& * 129 » 20 19,752
OnEe 2,640
-bH < Xt 40,000& * 5% = 128 2,400
-JIEHOHS 20,0004 = 18 » 123 240
0L B2 E= 139,081
oJleza(t3) 2,123,590& » 4% » 1228 101,933
o254 106,170& = 4H » 123 5,097
o< 50,0003 * 494 » 12& 2,400
OFEFItHI 1,061,790& * 4% * 23] 8,495
Oxzz2f=+¢ 148,600& * 4%H » 12& 7,133
O= &l 130,000& * 4H » 123 6,240
OAHIE &l 79,2803 * 498 x 20 6,343
OnEe 40,000& * 3Y =+ 128 1,440
O3RA 4UHEE =z JIARE S 59,505
o384z 563,738,000& * 4.5% 25,369
OFaR= k= 1= 563,738,000& * 3.23% 18,209
OFIILEBEZ 18,209,000& = 8.51% 1,550
OCnE:Ed™ 563,738,000& * 1.5% 8,457
OtMEE 563,738,000& * 1.05% 5,920

TN NBAIYL AB2H () 166,857 104, 128 62,729
= 54,888
=3 07,444
Al 84,525

101 1A dl 166,857 104,128 62,729
= 54,888
< 27,444
Al 84,525

RIAAZ2 T E = 166,857 104,128 62,729
OSRAIZZXN B 151,082
oJlzzs(ta) 106,374
55 = 2,197,590& * 2% » 12& 52,743
= 27,215




SN CARBMSSEE QST
B BHLARU(CHRBMSSER Q8T H)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 73,607
Al 11,921
633 2,234,500 » 2% » 12& 53,631
= 27,673
= 13,837
Al 12,121
OF=E=F =y 110,800& * 4H » 123 5,319
O&d=+< 50,0003 * 498 » 12& 2,400
OFEFItHI 1,108,040& * 4H * 23] 8,865
Oxzz2f=+¢ 154,600& » 4% » 128 7,421
O= &l 130,000& * 49 = 12 6,240
OAIE &I 82,4803 * 49 » 20 6,599
Oonsxe 100,000& = 4H = 123 4,800
OXEHsH ExaY
383,000& = 28 » 42| 3,064
c4liEdgz JIHRE= 15,775
O=30dz= 149,432,000& * 4.5% 6,725
OFaRz gk = 1= 149,432,000& * 3.23% 4,827
OFIILEE= 4,827,000& = 8.51% 411
OnE:Ed 149,432,0008 * 1.5% 2,242
OMTHEH 149,432,000& * 1.05% 1,570
S3TAZ H2AIZE AEB2H (M) 161,809 104,128 57,681
= 54,888
= 27,444
Al 79,477
101 @124 dl 161,809 104,128 57,681
= 54,888
[ 27,444
Al 79,477
03 RIAHAZZ2 B+ 161,809 104,128 57,681
OZ2RAZZXN B 146,514
oJlez(t2) 105,485
553 2,197 ,590& » 4% » 128 105,485
= 54,888
< 27,444
Al 23,153
OF=E=F = 109,870& * 4H » 12& 5,274
O&dd=¢ 50,000 = 4% = 12& 2,400
OZFEFItHI 1,098,790& » 4% « 23| 8,791
Oxzzf=¢ 153,400& » 49 » 128 7,364
O= &l 130,000& * 49 = 128 6,240
O¢ItE &I 81,840 = 4% = 20 6,548
OEs=g 120,000& = 28 = 123 2,880
OXtHE = 383,000& * 18 = 42| 1,532
42z JIHRE= 15,295




SN CARBMSSEE QST
B BHLARU(CHRBMSSER Q8T H)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHLEE= 144,877 ,000& * 3.23% 4,680
O¥JIIRYEE= 4,680,000& = 8.51% 399
O=8d3 144,877 0002 * 4.5% 6,520
CnE:Ld 144,877,000& * 1.5% 2,174
OdTHEH 144,877 ,000& * 1.05% 1,522
SEEAE A2 AERY(EY) 160,816 104,128 56,688
= 54,888
[ 27,444
Al 78,484
101 @124 dl 160,816 104,128 56,688
= 54,888
= 27,444
Al 78,484
03 RIAHAZZ2TE = 160,816 104,128 56,688
OZ3RAZ2ZI B= 145,618
oJlezs(t2) 106,374
55 = 2,197,590& * 2% » 123 52,743
= 27,215
< 13,607
Al 11,921
653 2,234,500 » 2% 128 53,631
= 27,673
= 13,837
Al 12,121
o254 110,800& » 4% » 128 5,319
O&d=+< 50,000& = 4H » 123 2,400
OZFEFItHI 1,108,040& » 4% « 23| 8,865
Oozxuze=4 154,600& * 48 » 123 7,421
O= &l 130,000& » 4% « 128 6,240
OAHIIE &I 82,4803 * 4H » 20 6,599
ONEs=g 2,400
—bH < Xt 40,0003 = 3 * 123 1,440
-JIEIHE 80,000& = 1H » 12& 960
O32A 4UHEE JI&=2g3 15,198
O30z 143,968,000& = 4.5% 6,479
CHILBEE 143,968,000& * 3.23% 4,651
OFJIIRYEEE 4,651,000& = 8.51% 396
ons=sedg 143,968,000& * 1.5% 2,160
Ot THESH 143,968,000& * 1.05% 1,512
SBEAMZ A2 AF2H(ZUH) 118,496 104,128 14,368
= 41,166
< 20,583
Al 56,747
101 @124l 118,496 104,128 14,368
= 41,166




SH CHBEMSSEE QBTN
B BHLARU(CHRBMSSER Q8T H)
chel: ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 20,583
Al 56,747
03 RIAHAZZ2THE = 118,496 104,128 14,368
032 2£(3Y9) 107,297
oJez(t2) 79,114
55 = 2,197,590& * 3¥ » 123 79,114
= 41,166
< 20,583
Al 17,365
OozZ2ss+% 109,870& = 3H » 123 3,956
O&dd=¢ 50,000& = 3% = 12& 1,800
OFEFItHI 1,098,790& * 3% * 23] 6,593
OxuU=22E 153,400& = 3H » 12& 5,523
O= &l 130,000& » 3 = 128 4,680
OAHIE &I 81,8403 = 3 » 20 4,911
OnsExe 60,0003 = 18 » 123 720
O2RA 4UHEBE=E JIARES 11,199
Oo=38a3 106,069,000& * 4.5% 4,774
OFaR k= 1= 106,069,000& * 3.23% 3,427
OFIILEE= 3,427,000& * 8.51% 292
OCneE:Ed 106,069,000& = 1.5% 1,592
OMTHEH 106,069,000& * 1.05% 1,114
S3TAZ HZAIZ HEB2Y (S 82,079 26,032 56,047
= 27,444
< 13,722
Al 40,913
101 @124 dl 82,079 26,032 56,047
= 27,444
< 13,722
Al 40,913
03 RIAHAZ2 B = 82,079 26,032 56,047
OBRHZ2Z2X B2(29) 74,318
oorAdI(tt3) 53,188
553 2,197,590& » 1H » 1228 26,372
= 13,607
< 6,804
Al 5,961
653 2,234,500 » 1H » 128 26,816
= 13,837
< 6,918
Al 6,061
OozZ2s+4 110,800& * 2H = 123 2,660
O&¥d=+% 50,000& = 29 = 12& 1,200
OF &S 0tHl 1,108,040& * 2% * 23] 4,433
Oozxuze=4 154,600& * 2H » 12& 3,711




2N
X ZH -
L= B

el

SHRUBNS SRS QBTN
HHSHBY (TAHBHYSASEE QSTA )
ol 2yl

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O= &l 130,000& * 2% = 12& 3,120
OAHIE &HH| 81,8403 = 2% » 20 3,274
ONs=g 100,000& = 1H = 12& 1,200
OXdstgI x4
383,000& * 198 » 42| 1,532
OS2 4UBER JI&2REZ 7,761
O3z 73,500,000& * 4.5% 3,308
OAH2d=E2E = 73,500,000& = 3.23% 2,375
OFIAEER 2,375,000& * 8.51% 203
OCnE:LE 73,500,000& = 1.5% 1,103
OtEH 73,500,000& * 1.05% 772
|23 bl 307,285 313,989 26,704
Jl23Hl 307,285 313,989 26,704
201 £B-2%| 270,739 279,561 A8,822
01 At 221 32,714 34,436 A1,722
OJl=2g+a8AH (J=&Hl)
500,000& * 24%F = 95% 11,400
o=gd (JI&EZHl)
8,000 * 33 = 8L « 128 * 80% » 95% 19,262
oOFJZE 2=
120,000& = 9 =« 23| = 95% 2,052
02 8323l 238,025 245,125 A7,100
oORERS 1,600
Ogegt 350& = 1,500 525
Os2l 2,150& » 50038 1,075
O&EX=AIl KX 22l
3,700,000& = 8CH » 8% 2,368
ORELSZE(6MHLA) 20,0003 = 80# = 12& 1,920
OFSIE R 190,397
OJleea 6,800& * 6OHA * 183kw » 123 89,597
OMEERS
100& = 6IH2A * 14,000kw » 128 100,800
o4& -ot=R=a 1,600& = 1,000m * 12& 19,200
OZAIIIA Q3 (2U)
950& = 1,100m = 12& 12,540
OXNsIEE 800,000& =« 2CH 1,600
O Xt = XHAl 100,000 * 2CH 200
O X+ & By 8,000
Osgxt 6,500,000 6,500
OSEXH(EIIA) 1,500, 000& 1,500
osIMERES 200
(OPNE=PNE-= 100,000& * 23| 200
202 O4dl 26,266 27,648 A 1,382




SN CHRBMSEZE Q&C AR
Hi: HH2IAH(THZBUSSE2R 28T M)
¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 26,266 27,648 N1,382
O©JI=ZH
20,0003 » 24 « 82 « 12& » 60% ~ 95% 26,266
203 YR =&l 6,780 6,780 0
04 FN2ELRZ=TH 6,780 6,780 0
OJEA 6,780
OJ12(30&0l3at) 400,000& = 123 4,800
OZ= (3180l &) 5,000& = 33 » 12& 1,980
405 TtobH S| 3,500 0 3,500
01 AL EZFH S 3,500 0 3,500
W& (500L Of4t) 1,000,000& = 2CH 2,000
O9X (32 g) 150,000& * 107K 1,500
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